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QB.
“Gignature of the Candidate Code Sianature of the Invigilator
Before filling the OMR Answer'smate must ensure that all the pages from 1-36 are printed epsrectly
in the Question Booklet. In cage of any discrepancy immediately replace your Question 1‘1\\1\ fet.

INSTRUCTIONS TO THE CANDIDATL

(Read the Instryctj ing)

: ons carefully before answering .

1. Separate Qphcal Mark Reader (OMR) Answer Shee:ri: supp){iEd to you along with Question Paper. Read and
follow the instructions on the OMR Answer Sheet for marking the responses and the required data.

2. The candidgte should ensure that the booklet code printed on OMR Answer Sheet and Question Paper Booklet
code supplied are same. p

3. Immediately on opening the Question Paper Booklet by tearing off the paper seal please check for (i) The
same booklet code (A/B/C/D) on each pa%e, (ii) Serial %umbeg of the question (1-200), (iii) The number of
pages anq (iv) Correct Printing. In case of any defect, please report to the invigilator and ask for replacement of
booklet with same code within five minutes from the commencement of the test.

4. Electronic gadgets like Cell Phone, Pager, Calculator, Watches and Mathematical/ Log Tables are not permitted
into the examination hall. ’

5. Darken the appropriate circles of (1), (2), (3) or (4) in the OMR Answer Sheet corresponding to correct or the most

appropriate answer to the concerned question number in the sheet. Darkening of more than one circle against
any question automatically gets invalidated.

6. Rough work should be done only in the space provided in the Question Paper Booklet.
7

. Return the OMR Answer Sheet to the Invigilator before leaving the examination hall. Failure to return is liable for
criminal action.

8. Question Paper Booklet shall be taken away by the candidates and should be preserved till the declaration of results.

9. The Question Paper Booklet is printed in two languages, viz. English/ Telugu or English/ Urdu. In case of any
doubt or ambiguity in any question, then the English version is considered to be the correct version

10. There is no negative mark for the wrongly answered question.
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N\ d
If ﬁ total amx@nocome of 3 persons A, B, Cis Z 14,20,000. A, B an 2 13 - 10, then the’ L,

ratio 1
25%, 209 of their incomes. If the annual savings of A, B, C are in the g{

ual income of A (in rupees) is B, C en S5 > <7
A, B,C ©I Sorfths Hge Y errcire 3wdo 14,20,0
30%, 25%, 20% ez Sreoty B, A, B, Co 08
ETPaho (ErSrahost)

“”d}naa(ﬁjegg ;_:'30 e.gmcﬁaoés A

& H//K
00
(1)  4,20,000 2) 5,20,000 (3) 5,00,000 (4) 4000 N \9&
/&\V &
2 a_c 3a+b _
Ifb d’thenc+3d "X/\o
a_c 3a+b _
R A v
3¢ + d) b2 3a+b a + 3bd 3c+d
@ (a + SbJEZ— @ 3c+d ®) b + 3ac () 3a+b
A7
1 .1 _1 X Y
3. LCMof 22,42, 55 is £ and GCD of a, b is 1 then ab= )
8 b T o
“;\“_5‘”3
1 1 a LYZ ~
25 4 5805.%°r{) Eé:édﬁ»a,boﬁ%w 1 wowS ab= qg_’%\
1) 3485 (2) 6970 (3) 9670 (4) 7690 ‘)huu;

1
A buys an article with marked price ¥ 900 at 335% discount. In order to make a profit of 33%% ;
A should sell the article for rupees

<

900 Sraraben (SEES S8 Ko ét\l)é)é) 333 % rond&° A?a&&o 33; % erg50 oBTRD. o3 émé& A\':f;;)

Dod 5% eXPSOd HROE® © &8 ErSaHes® 00 /7

1) 1,200 @ 900 (3) 800 @ 1, 000 /”/4\3 v

el

Q\k\vb\”j N

W7 +aB | 12465 &b\o @"b V/'}:r L ‘;L_g ‘%

5. = A -
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AP e
1 3 @ 3(223) 3) 23 @ J3 2 \A%
Y
6. \/142+116+\/8T1—§/'2ﬁx(125)% = 2
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A
The incomes ¢f A, B C:

. €
to the income of thjq 3t year wo
. ear js 3 . ere 106:5: i i
et incomm yea}; izr i34 por porein the ratio 6 : 5 4. The ratio of A's income of last year

last year (in Tupees) jg N 12'80,000, then tllier?:; is 3 :5 and_ for C this ratio is 4 : 5. If the sum of
1S oS80 A, B, . €ase in the income of C thjg year over his income

. QY S "
SO QS 3 : 4. ;)g%)&@ B :ipej N8 6:5: 4, A &o¥)
12,80,000 5538588, C g o S 315 %

et éoa’)égé BTPSHo KBy &
(1) 2,00,000

Ocsn 4 9% . %

(2)  1,20,00¢

-

(in minutes) required to
commencement of thejr

.8 52)63_25116 ) 'acgti) e@“é%éonb acﬁ:aé;tiaho ST, X 55 HIS vﬁﬁoés:fm, Y a:aaea?:r
835" 20 08 2830 Btr6 Jnises DEDB>. T WEBTED FoSBFB 2 Dodre &

- ) O T, a3 S
2 ten DESH)BK0- BoKS 36 T 2,.88ES e’ 5T $500H0 Aot T X ) v/
( 4 2 2 @) 3 @ 6 X /\"r

Pass each other se
running is
50 X 58050 Y o

10.

A man took a loan of ¥ x from a bank at the rate of 10% compound interest per annum for 2 years
and he repaid the whole amount of the loan including the interest by paying ¥ 80,000 at the end of
the first year and ¥ 33,000 at the end of the 2nd year. Then x =

28 358 Toth FoS& e el w508 o8 $osEo08s 10% TEPS SESEE x Erdravoss epm koo,

A6 Bos5ET0806° 80,000 rrcshes HBwH Boks HosERoB0st 33,000 Srdrabed Fposto magc«ﬁ\gﬁe
éé’é‘s e InBo TS 88) Seeed. wowd x= a\_p\}

: \‘R'\}\//
(1) 80,000 (2) 90,000 (3) 1,21,000 (4) 1,00,000 0&\\\10
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: d travelling from B to A at 8 a.m on the same day. \»
P started travelling from A to B and Q starte g NN AB «
They both met each other at 2 p.m on their way on the same day. From this time P reached B, O

(o]

o * Oy
31hr before Q reached A. Then the time at which Q r_eached Ais q
2 5 v
3) 8pm "~ (4) 7pm
2) 9pm ( i
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.. . A work is done with tbis
12.  Thereis a group of persons in which each person has the samedefﬁ(:c:?;;}hvo persons worked, thirg
" group as follows : first day only one person worked, second day t following days. Followin?
day only three persons workeq and this pattern is followed forthe nexle they have completed t},,
this pattern in thjs way, K persons worked on K" day. Using this rtl;le'wor“k if 15 persons work
worf} n 15 days. Then the number of days required to complete
together evervday is
) T, 0SS 56a3~> 32
a8 Jsoe DBesossy 58 58 S PHGE 2.HT. 2.8 599 & (8od Do ;Séo;:o s aqa;g
2.508°, BoKs Shaw SSe0 BEOS’, Sriss B Fero Soros° oty SHTE IF) ;méaoa =
OBBOTE. s W) 055800 K 3 &% K 08 509 39 I=th. & @cﬁ)é:!‘;& Sere So =
15 &%epeye58 8 S, OJPL 15 H08 E0% (B88%:~ 59 3R © 3 FY S8 38 B
1 10 2 o G) 6 4 8

13. A Student scored 72% marks in all the three subjects A, B, C together. %\Iaximu.m marks in each
subject is 75. He 80t 63 marks in A. He scored 64% marks in B. Then his score in C is
A, B, CoR Sames FTZ0TONBE K0 .« DT 72% ety Sromid. (58 Foodosiin fOg Srepen
75. A& 63 Srpen Srogesy, B &* 64% LB Sromets, sond CS® 03 oS Qe
(1) 68% 2 51% (B) 66% 4) 62%

\
14. 2men and 7 boys can do a piece of work in 14 days. 3 men and § boys can do the same work in
11 days. The days needed to complete the same work by 8 men and 6 boys is y. If the daily wages
Ol'a man is thrice the daily wages of a boy then the total wages to be paid for these Y days is equal

(1) the Wages of a boy for 210 days
(2)  the wages of a boy for 70 days
(3) the wages of a man for 39 days
(4)  the wages of a boy for 13 days
G Hoen, DeHrHH erentH

e
11 Sfaverst &8 Jahifeh. ©d $99 OB 008 Hodoen SO amendy I8 DHKOAS Bere dong i, el

(1) 210 Sevos o5 P8 STy E08 B0
(2) 70 e o 08 $3) 08 SN0

B) 398=e% ox DHHIS 5Ty £08 $5m%50
@) 13508 o8 wesns $3) £08 S5m0

15. A person has ? 25,000 to invest. There are two sch

12% per annum. In scheme B, rate of Interest is 16% Per annum. [n scheme A interest is compour

annually where ag In scheme B simple interest is given. How long (in years) should thz}t },W‘ ‘:Lm‘
Invest hig money in scheme B, soas to get the amount equal to the amount he receives by investiig

i L&)
emes in a bank. In scheme A, rate of interes

;é S8 e ) Dot 7 25,000 ST, 2.8 &30S o § 5 i@ff
= 12%, B Bt BOBHTRE S8 Bew 169 WD A S b SES8D, 55 Bes ERGBED BYES T

& 2% S < 3 ol s & e
R T s DR RS 33 Sweeds N&rSor aos g0 grareod, 4 B
(éoéé;,wb«o@") ?96:833& = e

@ 215

REDen emmay, 55 A& 90380

3) 1.73 4 205
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2
2 8 e @ 15

The work done by a man js 11 .
o . 7 times the work done by a woman in a day. The work done by a

3th
childis — o

f th
4 e work done by women in a day. 45 people are engaged to complete a work

where the ratio of men, women & children is6:5:4. An amount of ¥ 61,200 is paid at the end of

the 31d day. If the wages are pr. . Sk
i : © dual, then the
daily wages of a women (in I‘Epeg;))rional to the amount of work done by an individual, then

e eont ey HE. o 3
28 Bed’, 28 HEHH FD 69 28 § F 508 1% St 08 Bord® 26 Dot 30 0 8 § TH IS 7

$ S0, o8 IO Frd BAHERE 45 2069 BT, 06’ DHroes, [Heo HOE dyo P 6:5:4.
Koet8S B DB 61,200 Erercoo sy 08 BYowetd. &0 Sred Hggridorr 6 Jos H Bee8® T8
orEos® 6ol 2 | @) 8% IS0 (Erirahos)

(1) 500 (@ 400 (3) 600 (4) 450

18.

If x, 4, 5(x < 4); 6, y, 10(6 < y < 10); 12, 16, z(z > 16) represent sides of three right angled triangles

;I
e

e

v ™y \4\
g 33+l aw ol ko B 2
@ 100 sl g gl 7 At

.
L 3

§ K

respectively and LCM of x2, 2, 7% is P] Pg P} where P, Py, P3 are prime numbers then HCF of +%

x, 4,5(x < 4); 6,¥,10(6 <y < 10); 12, 16, z(z > 16) e» LB St wonsin ([@ghesne gHasnod
SrO%T x2, yzl 20 &.0.15. P‘l" Pg P} =5 Py, P,, P &0 ($5r% doage0 wowd, a, B,y © 08 K.3°.57.

1) 6 2) 8 @) 2 4 1

19,

The average cost of n items is T 25 and the average cost of other m items is T 19. If the average cost

of these (n +m) items is T 23 thenn : m=
n Sisibe Bk HOL> 25 Errabe.
23 EpSechen ©ond, D nIm= -

: /
(1) 1:3 @ 5:1 . 22

20.

10 kes of adulterated rice has tand
No‘fsﬂfe :pproximate percentageé of stones in 1t 1s

103de 5§ Dogod® 4%
ghig oo araT (@) 2.04

(1) 0.98 @ L8

S5B0 HADS griio Hokgo eITHOW. mgés Ko SoRomrd aH RSt &)
o)) 2B Ars)

4) 1.98 av= KO

)

ar N LD 2 ‘i\ﬁﬁ; Nﬁé .
26\ 67 %f@g‘\‘s - WIS P S

%8 m Sigde Sifen pdh 19 Grarcben. & (n+m) SHHo Jrie 7?6%“0

4% stones in it and the rest is rice. Half of the stones were removgg)ﬁ Y

2
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21. The income tax department is collecting tax out of the total annual income for the first 2 lakhs at
the rate of R% and (R+12)% for the income exceeding 2 lakhs. A person paid (R+5)% of the
annual income towards the total tax. If the tax on the annual income beyond 2 lakhs is 320,000 for

him then the total tax he paid (in Rupees) is

e DY Ty FOT IwEo emrchos® Indd 20 R% SHps, 2050 LodS soeabo® (R+12)%
SHPS Dy Sdren BFod. a8 8 3P0DS Iwgo I3y >H soeahos® (R+5) 8o, @38 2 0gph
20D FdT emrahop $5 20,000 Srrabe ©wd, o8 39005 Indo Iy (BrFchHes®)

(1) 32,000 (2) 24,000 (3) 25,000 @) 26,000 ;
v 8 8’\7’%% \;:}(1
22.  Which of the following exactly divides 881280 ? \‘5\2}0\
Bob 06" 881280 Ddiore NoZ6 26 ? \%3\/
a 7 @ 13 @ 19 @ 1 2
)
th th

1
23. A person invests e of his total capital at 12% per annum, 1 at 10% per annum and the

remaining part at 8% per annum. If his total annual interest from all these investments is X 33,000, A (‘
then the amount invested at 8% per annum (in rupees) is ' 74;
L o K
/ . 1 1
l' gﬂg ;&;‘, el &8 &8 HEOD) Saressos®, gaS SoH SoSSPR8 12% FIps, Zé S0 J03$08 10% Ky ,\/p/o(
L .,.‘{c,f“am SONDS grrrd) $oSHTE 8% THPS Digalme DR, & Digade oo SIS Sndo o5 K)é %’
i - o/ - - 0
\ ?’\f} 33,000 Er2rcabhBa $o58y0°08 8% THpS epelm REI frin) (Errahes®) 71/ /"}y\go?
(1) 3,60,000 (2) 2,210,000 6 60,000 (4) 90,000 &
% e 47{;4( M
3
| >¢ 24. In an Arithmetic progression, if 10 term is —14, 315 term is —119 then the sum of 6th term and
8th term is 4
- &% 00 /
N xs’(x?r o8 ©o¥@ASE, 105 o —14, 315 S0 —119 w08 65 So SO 85 Jore Exngo \¢ 905
:f,/d/\v (1) /2 2 -5 () 31 @ 0 @
\v. 4 Y
R
O 90 g
Yo 25. 2. =
AT L D 9 @ 10 ® @ @ VI
& L

Vi .
\@29 A shopkeeper bought an article for 1,200 and sold it with a profit of 10% on credit basis such that
o, theamount has to be repaid after 4 years with simple interest at the rate of 10%. Then the amount
y _\f“/\% (in rupees) received by the shopkeeper at the end of the gth year is
AY /KQ’ %\»n—&é Bosermettd a8 3D 1,200 Erarabed S DB oA 10% o8 Shwplask g & PP
G ’ ¥ (/'/\ > 10% SBps w&éég‘s 4 Soddyre SUS 8OA BPoTbty w8, WSrerrdh 4 Sosdre Soxd grobd
7 0/N)  amdo (Erdrahed’)
T, (1) 1320 (2) 1848 (3) 1,550 (4) 1,448
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27.

28.

29.

O
& o

Itissold toa custon{@x at a’discount
The customer gave this article to his
f the article to the customer

The marked price of an ary cle is 15
is 159
%o more than its cost price.

of 20% but 5% GST w
neighbour for X 5796 thaesreaé;‘)e;harged on discounted price.

excluding GST (in rupees) is ming 20% profit. Then the selling price 0

o8 S DY) (BESS
0 30 > &
%), 30 Kol 15% e @0l TN e DIERATERE 20% 8no%5’

DBoDOoTLD. »
¢ 55 wos ENOD 5 5% S8 '
508" 5796 Erirchot o by & 2gometh. @ DIEPREELD & SHD 050 FhRodTIE 20%
. 008 d0Y Borr AEHHIERS © HH O &8 (Brirches’)

(1) 5,000 @
4
) 4,930 (3) 4,600 4) 4,830

S, s s g o8
g DI T Desse Gng) oSetre ESHEne® A5 wob %A8 ©HO)HDD, HEDBD
%008 45 Hso HBaiw HEIH Lood 55 Hore Iwdo

13
= @) 61 37 103
15 ®) @ 72 Ny
TS T \05 %3
W o
©°

N . .

Ifa:b=3:5,c:d=4:7,b:c=2:3thend:c:b:a=

oW é“

a,é;-ie'a:b=3:5,c:d=4:7,b:c=2:3eaonéd:c:b:a= aute
9
(1) 24:40:60:105(2) 7:4:3:5 (3) 5:3:4:7 105:60:40:24

30.

If x is the least positive integer such that /814968 xx is a positive integer, then x=

x ©30 /814968 Xx cﬁ;ééyo;oééaaaéaé.;g aoe 893 SRS, X =
1) 231 2) 154 (3) 924 4) 462

gg';/

31.

smallest number among them is 68 XK &
g g 00
LS )Ry

The sum of 4 consecutive even aumbers is 21500. If the

then K=
e 5B HB Poege 3o 21500. >88° 89

@ 79 (2) 69 ®)

% Soay 68 X K ecwd K=
89 @ 59

32.

parts for simple interest as follows. The first part is lent at 10% per
t 12% per annum for 4 years and the third part at 15% per

% 1,29,000 is lent out in three
¢ earned on each part is same, then sum of the first part and

annum for 6 years, the second .part a
annum for 3 years. If the total interes
the third part (in rupees) i

1,29,000 S eabow S G e ST, DGO GPrrR) HoSHTE
10% sy 6 oo, 396 T gy GoS4R8 12% FEpS 4 HoSdret HO Sets
$0S5Eo08 15% F8pd 3 B0HHTOD @IP™ o). w8 errioR SN 54 Fngo Bamore Sl
o Hobaky St e 3wdo (o000 =

(1) 84,000 (2) 81,000

70 VAT

93,000 (4) 89,000

ET-41524-1A-P
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33. A Shopkeeper fixed the marked price of all his articles 25% more t}}a;: theirtcos.t price. He t
sold the articles by offering a discount of 10%.on the marked price. e cost price of an article
% 3,000 then the selling price of it (in rupees) is 3
28 SR el ST SKdeRed FHFe DY 25% AR BE6E JoH AWanor, ¢ gy,
(BEBS Jop 10% SRoHE® © SikHo dFowomtd. o8 SH ) FHhIo 3,000 Srarchyd 5980 3,
(Brarcdhes®)
1) 3,450 2) 3,360 (3) 3,900 4) 3,375
34. Five positive numbers are written in a fixed order. The average of first thfee numbers is 12, Ty,
average of middle three numbers is 15. The average of last three numbers is 18. Then the average
of first, third and fifth numbers is
28 R [E508° 5 655 Soggod (e, obptd It Hurd Sogge B 12. HEE6™ S0t Soagw Ky
15. 958 Kowed Sogge drfew 18. ©oNd B, KoK B 085S Sogge Jriéw
@ 21 @ 9 3 15 - (4) 16
35. If the difference between the compound interest and the simple interest on a certain sum at
15% p.a. rate of interest for 3 years is ¥ 567, then the difference of the amounts (in rupees)
accumulated at the end of 2" year is
28 oderp Fd 15% 553" 3 Sosg)ssnes SESE, Do erhsbe Boo 567 Srdrabes savd, 2
SoDE)orosrRs e edy Inzee o (Grarchos?)
(1) 189 (@ 120 ; (3) 180 (4) 175
36. If 10 persons working for 18 hours a day can complete a work in 16 days, then to complete that
work in 18 days by working 8 hours a day, the number of persons required is
8% 18 rfotren $ Bk 10 08 S58en 16 arers® 2.8 $ID 518 BeHKOAE, es HID 18 Blerersst, Berth 8
foben FHPS B Bz H°0 BHmR8 SRS She Sogy
1) 15 2) 18 @) 16 4) 20
37. If the sum of first n terms of a progression is M+ +2)n+3) - 6 then 4th term in thafL
: 3 ‘ |
o | 5
progression is ‘o'} :\/fg(f
7 Vo0,
28 (386° Z056 n H5iswe Fwgo P DM +2)M+3) — 6 wong, o Factn 45 50 5 J/A
3 ' 7
(1) 20 (@2 30 (3) 40 . (4) 50 15
i
38.
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9 men can finish a work in 10 days. 12 women can finish the same work in 18 days. 15 children "%
can finish the same work in 24 days. 6 women and 9 children started that work. They worked fof

12 days and then left. Then the number of days required for 6 men and 9 children to complete the 75
remaining work is

(1) 16 days (2) 18 days (3) 12 days (4) 4 days 5
9500 HsHen 2.8 BV 10 Bares® 570 abifos 12 508 (Hoo o 530 18 Seves® grd JoHIioD 12
3008 dpen ©F BV 24 Seros® Gro Savro. 6500 Hev B 9 Hod Boen & $AD [FEodoTd :
Biere SR BRE SHmE 6 HID O Sath. wand HAOS SIV 0 SCHDB 6 Kot Hrogoen HOL?
5008 2OOB LS Bare Koy

(1) 16 Bleren (2 18 55§’€D (3) 12 &%eren (4) 4 &%eren

s-p T
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0. fx—=2, xand x42 40 hinse

X =2, X 5006 x 42 ey 1 % Prme numbers lying between 1 to 100 then 3x=
1 9 2 0&2]00 &So a8 Tro (Bord Somgeo wows, 3x=
! @G) 27 @) 15
40. Aand Bcandoa work ind
for 3 days and after that B

;Espendent]y in 10 days and 15 days respectively. They worked together

replaced with C. The work is finished by A and C in further 4 days.
esof A, B, Cis T 460. It they are paid their daily wages proportional to
€ total amount received by A in completing the work is (in rupees)

2.8 DA &
SN RgBolorr A £80i Bes St 10 meatm 15 Gens® Sasriot. st $08 St Sewen 59 358
goxg B othenre C &g,

0. = B0 A 28¢5 C oo 3536 4 Fwes® o 3. A, B, C 83%rde

0o 460 Erarche. 6 08 59 FoE o8 e Eos w6 BILD 30D, 39 78 ahkos® A 0B
awgo ErO (Grardhod®)

(1) 420 (2) 1,120 3) 1,680 4) 960

41. The average of 10 consecutive odd numbers is 64 and the average of 8 consecutive even numbers

is 49. Then the average of the extreme values among the odd numbers and the extreme values
among, the even numbers is

10 HB3% B Homge Bt 64 Hoddin 8 Sk S0 Jogge o 49 woxd B Jopgw oy Devden O $O
éom&o Zlelilg NenHe Dk

(1) 56.5 (2) 56 3) 54 (4) 54.5

42, 1f the profit gained by selling an article is x% of its selling price and its cost price is y% of its selling
price then x+y= . 5 .
2 SR wBREO TR SO oo, ool oiPsY §ES° x% $H0d0 Tl §°F) o P 0INEH 30s® y%
®ond X +Yy=

b !
- @ (3) 100 @ 5

. ift from his relatives. To encourage Ram towards savin
43. Ram on his birthday received ? g’?gg\a;%ﬁg his money to him at 20% simgple interest per annun%
his gra“dfather aslae money from Ram at 15% simple interest per annum. His elder
ed to len d any amount of money from Ram at 10% simple interest per annum.
brother is also interestefi ° leI: tg] take only ¥ 5,000 and his father is interested to take the entire
But his grandfather is alfttt:’fe?te If Ram lent all the gifted amount, then by his next birthday the
money but not-any P X

) . t he gets 1
maximum possible amount g& pirod Er08° 8,500 Erdraben Eromrtd. o8 Fred Jd SoxRY
e OV 00

o 85 HES & 0% cr&s5E8 ©FR i eBpre aSghd e, ©8 o Fb 15%

z =
'2)06(:;&;!: SER) g:é m&;; :: S8 SR8 Ao, o8 1Y o) Fd 10% 88 0sd TRy
oSS ©sd RS
o

<o, ©08 OB &8 P 5,000 Srdrchen SrEd SsSSmeRs wld 807 z
D08 TnFRT ST mé’c’i ar%: o B BT IrED SDSIT8 638 0N e, D OB
et Sbas» o380 808 52 :;3 oS HES e 8 FroBROR og Ingo

D8 Iwee) O™ 5‘2;@ 9,775 (3) 9,850 (4) 9,950
1

= RTTmR

the money,
Ram's father prepar
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44,

of answer booklets in 7 days working for 8 hourg

A team of 5 examiners can evaluate x number \
o work in order to evaluate
X

day. For how many hours in a day would .6 examiners have t
number of booklets, if the work is completed in 14 days ?
5 %008 SBBeBHme x $SFEES Herel Beh 8 fove THPS B 30 7 Bered® Srorgosto Faviuy, 3

o Do 6 0 BoSobe: 14 Fwod? Srersosso SabKONE, Beh 0 I Hoves 53 :sm?;ﬁ; ‘=;
2 /
#0008 LY A

/
1 9 @ 7 (3) 10 (4) 8 %c{

45.

Y|
The average age of 35 students in a class was 20 years. 5 students each of age 2'25 years have joineg %
the class and 5 other students left the class. Now the average age of the class is 21. If the average
age of 3 particular students among the 5 students left is 15 years then the sum of the ages of the

remaining two students left is

28 S5K8S° o 35 08 Damge Bifew Habiky) 20 SodEoes. 2.8 25 SosHTo HaR0) Ko ettt
Dmsten T SEHBSF Sonds 565> wanthrith IS Dmghes EEKB DE IR, At S611B i
Soiny 21. S8K80 HE B8S wantirvr JTReS® FG8oSHAS Surfth Dorgthe Britn DAY 15 Sore -
ood, D& IYI IS’ WADS B Jughe ScHIYe Iwgo

1) 90 @ 4 (@ 50 @) 44

46.

A man used to spend 75% of his income. Later his expenditure increased by 24% and his income

increased by 15%. Then his percentage decrease in savings is e
a8 558 o8 sraos® 75% iy Baarl. S 0dd pty) 24% 0 emrabo 15% orav. ;?cmé A
80 08 DS ShhEe wEo NS bﬁ\m ,
: \ :
3 N\ ,
22-% 2) 12% , % \ 19&L% A S
® 2 @ 12% () 20% &+ AV T

47.

Y
A can complete a work in 10 days. B can complete the same work in 15 days and C can complet \f\d
the same work in 20 days. They have completed the work along with a fourth person D in 4 daYS/?K

and were paid ¥ 30,000 for the whole work. The share of D (in rupees) is %

A 2¥ 599 10 Bered® gro Babrow. B od 99 15 Serostir 50 C of 599 20 Saodtsr &0
Sabro. 6 © 509 s 58 D & 500 4 Fwost 8 Sets DO © Sngo 508 e 3000 o
Graraen 08 BPoselod. wowd D Gny) arer (Srdeabes®) 2 ,{\f

48.

(1) 4,000 (2) 16,000 3) 7,500 4) 1,000 J
“

Certain amount was invested for 7 years in Bank A which has offered simple interest at the rate ,Of \,’t}%
7% per annum. After 7 years, the total amount received from Bank A was reinvested for 2 years ' 7%/
Bank B which has offered an interest at the rate of 8% per annum compounded annually.

interest received from Bank B was ¥ 15,496, then the sum invested initially (in rupees) was

§°0& QP00 HOBEYTE 7% TS 7 S0 oroh i el 308 A &° D&M epdh. 7 $058)o° éo"‘gé
e508 A %08 EroB% Sngo Aoy, 2 HodETes MM KOSHTIS 8% THpS SSSE HE809 o730

&5 §ON DEPREMT ertd. ergo B ol robs $& 15496 trdrandd (@otios® egwbe 283 Ry

1) 57,500 (2) 60,000 (3) 62,500 4) 52,500

Py N T
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\ GGEEI)OgNle > F
D feits o N0 \
3("0f—)+(;2 6 X\f\/"\ \)\/ i
/g 25 7 5'9><§+1)7—1 AN \/@g *@f}
: J289 5 Vo b ,,y )
® 17 @ 7
0. 1fxand y are the LCM and HCF of 2-- and 122 respectively, then By o\
10° 3 Ty NAPAN
2L s00 12 & G € 2010 . N
10 35 ) &R0, 10, 3080%0 #.8e.5p. @0 SERT %, ) @08 ==
s Y
(1)@ @ 1071 (3) 1666 (4) 735

51. The speed of an express train is 50 kmph and the speed of a passenger train is 45 kmph. Express
train stops for 2 min. after travelling a distance of 81 km every time and the passenger train stops
for 3 min. after travelling a distance of 39 km every time. If both the trains start at the same time,
Fhe number of kilometers the passenger train travels by the time the express train covers 450 km
is
2% 5B Bev G0%Y 30 Kot 908.8n. bk &8 sRoab Jeo GE) Ao Kobth 45 8.5, 8188°0T
§r50 (HOSPEBODN (5830 AR B0 ) Qenare o eibEod O 39 865008 &rB0 (BoirBodd

$8H FsRowb Bev 3 9on3pe ren eiHEoB. B oY o8 &0 ohend08, MBS Do 450 8.5, o &rdo

470 T $HoosrR8 0236 Do oseBod 8.20.0 Hoag
(3) 22275 @) 22025

(1) 225 (2) 221.25
er wall clock loses 2 minutes in 24 hours. Both

57. A wall clock gains 4 minutes in 12 hours and anoth
amona particular day. Choose the correct time when these two clocks show

are set right at 8 . A
exactly the same time in the jmmediate :

d 2) 9am after 60 days
(1) 10am after 84 days i e i

72 days .
(3; ﬁ?;-?aiigo 12};{0@9@5 4 9O wdSom &ok80d %00050 &8 fg fédasrdo
& % BoloBE%m Saing) §0 3D EFE.

ity o, .8 ABER
@i $6) B i oo it exbibol’ 8 HhATY Dok,

24 Kobo&® 2 0 o
v ooen P o
&g 3533‘*‘5@66 e Botd B E & (2) 60 ghave SO GEADO 9 oo

o 10 fo&®
észdﬁ)o 3 fobio (4) 75 e Sox8 B 8 Koto®

—vestments T 125000 1,50,000 and ¥ 2,00,000 respectively.
ted a busmesﬁir"::;eSte 17 75,000, After 6 months from the commencement of the
Four months 1atel, 1 certain mounts additionally which are in the ratio 3 : 2. The annual
business B and C m;f;%tt(?) OOC nd A chare in the profit is 7 28,000. Then the additional amount
profit received is < LA
invested by B (in rupeesz)(lﬁ 1 50,000 2,00,000 rarae "benoeatfwé‘ &8 TRGEPTR), rSodomt. 4300
A B, Ce» i 1250 5‘,0;,9%» ool DS sr5R60 (B8R0 6 Joo S B0 Ce
s A DB ,000 gr 5t B o) gwoa)&n" 2, T 1,20,000 Searco T0E TFY, Srowetd
ertore 31 20486 68 L sen P8 Botitor 85 el iy (Erdsrod)

(3) 2,10,000 (4) 150,000

S0t © o8 AT ”’(22)8 " ,70,000

(1 1,80,000
/ oo e e R R AR D

(1) 84w 803
() T28wo S0%5 °

53. A, Band C star
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54. A train from statioﬁ A started at 8 a.m and travelled towards station B which is at a distap

390 km. This train travelled with a speed of §5 kmph for the ftiirst gi‘;;{i?gsr?ttogf the time
travelled with a speed of 50 kmph. Another train started from stE} on t of the i at%am With
a speed of 35 kmph for the first hour and with a speed of 50 kmph for rest of the journey. The, the

time at which they meet each other is

(1) 1240 p.m (2) 11.40 am (3) 1224 p.m (4) 11.24 am

o8 Boo HRS A $08 ascho 8 Hoteb, 390 8.5.0 Brdos® &) PAS B 35 2aHLTO08. & Jen Kokt
65 8.8, 305" Tnise> 1 Kot (SosrBod, HADS KHaHos® Kot 508.5.0 Fros® BusrB0208. $oay
Ben BHAS $08 A DS B ascaho 9 Kobe acheRbod. & Be Kot 35 8. 0.0 IK0E° Fnts o6
Kot (BasrBoD, ADS Aty ot 508, &. Sro8® BatrBoDod. oo © Both Beh ST S

(1) Smgomo 1240 (2) adcko 1140 (3) Sooosdmo 1224 (4)  edsado 11.24

55. The age of wife is 6 years less than the age of her husband. The age of wife at the time of her ond
delivery is equal to the age of her husband at the time of her 15t delivery. The ratio of their ages
when they were married is 15 : 12. Second child was born after 8 years of their marriage. Then the
ratio of their ages when they had their 1%t child is
ROy HODRY) e &Y S0Hy) ET7) 6 SodB)oren SENL. R Tokd (HISDI[PD &F) e DDy, e
B (DISDI{PLD &) e 48 Sk Sdrdo. 8 D, @a)é 88 B Savdw Y 15:12
R0 w8 JosETeH 208 BoKd Vowero EDNKE. wowd Sosd Sozwso KON THBE 6 Sabikye
098

(1) 10:7 2 14:11 B) 19:16 4) 16:13

56. The ratio of the capacities of 3 containers is 3 : 2 : 1. Each container upto their maximum capacity
is filled with a mixture of milk and water. The ratios of milk and water in the mixtures of 3
containers are 7 : 5,5 : 3, 1 : 3 respectively. One liter of mixture from each of the three containers
is taken out and they are mixed in a new container. Let the ratio of the milk and water in new
mixture is x : y. If entire mixture from each of the containers with fullest capacities is mixed in
another new container then the ratio of milk and water is P:q. Then xp:yq=

ot (B BOKrer NG 3:2: 1. (58 NS B 0 $8Srere HEH Jew, Hioe o[FHo) EON &TYOD-
o) FBOSRr &) DAF0S® den BB Hhw VB SEH® 7: 5,5 : 3 5bcs 1 : 3. 58 S S8
288, D0t FHPS WFESEY 82 TEY a8 B JSS K0D a0, & MFH00S° Foew, Do G ¥+
SO0, (HB FEE Gr8 $05re06° &) DlFSrOD HTE 8 ]SS OB, 55 los® Fren, HO
RS p: q o, xp:yq=

(1) 455 : 481 (2) 455 : 407 (3) 385 : 481 (4) 257 :352

57. The average age of A and his wife B is 41 at present. Three years ago, the average of the ages of

A, B and their son C at that time was 26. After two years, the age of B will be 6 times the age ofC
at that time. Then the present age of A (in years) is

@S A S0 0 ety Bo Srien DAYy 41. Sartd) Voo B0, A, B 50bakn 6 HSTEE G2 1)
B Sohdye drien 26. Boty Soh&yore &ogd B Gnog) HScddy C %) NS ScHdnH 6By &0t00b:
eond A GnE) (B0 S0y (Sosdmros?) J

1) 42 (2) 43 3) 44

pT-41 524-1A-P e 12-D
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SIness with =

Bt Toss i g Investment of 50 lkhs, 50 lakbs and 60 laks. At the end of
siness. They continued the business and at the end of the

58. 1hree persons started 5
the first year they o

nd
“ .\Qcar' they got a .
Then the ] Profit. They sh
0ss that occurreq atety}’\e ;r ed loss or profit in the same ratio of their original investment.

(1) 20 lakhs (2 d of 1%t year if the share of loss to C is 6 lakhs is
518> S5%00 50 ofes, 90 % lakhs (3) 18 lakhs ) 15 lakhs

» 90 oges L
5?53%06‘5 :6%0 5208 m&éw ’;(;Oéo 09%3&')653055, THEFTY, (ErBodod. 088 éoaﬁéﬂ)cvoéoés 5208
eerQ) T oI 28 ;ﬁm %) S50, Doks GosdTords oo Pomh. w6 3 I
offer o8, B Sgo 26 9586° Solbmt. IoE8 SosHTosIE S Sos” CTer 6

1) 200 5
Ee (2) 25 0fm (3) 18 ofw 4) 1508w

59. Let C be th i th
e centre of a circle of radius 8 cm. Let A, B be two points on the circle such that
ACB = —. Th .
1 e smaller sector ACB is removed from the circle and from the remaining sector a

maximum cone is formed. The volume of the cone (in cubic cm) is

8 0.4, o fio e g Togo C. [ACB = T edgpty © Hop A B o® Dotopen. Hio Kool
£ 9B ACBR oNoD 5005 BADS IS w8 05 B Scinth B 030 © Ho5 o 008E0
(o5 0.8, 00°%)

5 1
(1) '154\/§ () %IS-IJS- (3) 73-154~ﬁ_5_ (4) 1544/15

-

»
60, The speed of the stream is 5 kmp
taken by the boat to travel from A to B

boat to travel from B to C upstream. If the dist
ance from B to C (in km) is

B to C then the disk

Semiro @t So Ko 5 8. <o DHODS DBE° 565 Srfo riowsh 308.5.0 Aol BB g0

Sod @Sd&m‘goétz“:)% o SESH 3§ Ihado, B %008 C 8 (308 oflnypore (HASrBoSR8 of HESD
Ke &0, B ool C8 o &0 g 4 8.50.00 O

87 soasrRsTy 24 o medren Sy Aol BE o &7E0 o &rbo BT, e 24,38, B

208 C & Ko &rdo @.5. 05
1) 42 @ 41 (3) 45 @) 49

| onds if he gives B a start of 40 meters. In the same race if

: 19 sec
61. In a 1000 meter 1952 Ae‘zolrxfi: ythen B wins by 40 meters. Then the time (in minutes) taken by Bto

A gives B a start of 30 s
run 5 km is

h and the speed of the boat in still water is 30 kmph. The time
downstream is 24 min less than the time taken by the same
distance from A to B is 4 km more than the distance from

B=509003 28 1000 B St Bodod® 19 wof &

B @o&rv
6 A éoéﬁa 40 aﬁbuéBi”;iéa 5 30 0808 ééaa;é A oabesdod, 40 He 88 B heodntd. ©awd 5
A Ao, ©8 H060 F
8 éaU:; -grv; senge08 BS 5 SO @res)
{;) ‘ ; o 12 (3 105 (4) 125
o [N
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62. Water is filled in a tank in such a manner that the volume of the part filled doubles after eve

3 minutes. If it takes 27 minutes to fill the empty tank then the time (in min) required tq fill
one-eighth part of the tank is

(58 2ort DD HES DB HXBOITH0 B0 ©dbihey &GS d6 dodahs 0. 2 &8 dokmng 2
DDipen HAB, © FHS® 8% Hoh VoBEAB HF $cho (AWeres®)
(1) 15 (2 18 (@) 21 @4) 12

63. If the calendar of the month of January, exactly coincides with the calendar of another month Xin

the same year if it is a leap year or with the calendar of another month Y in the same year if it is a
non-leap year, then X, Y are respectively

(1)  July, October (2) April, November
(3) March, December (4) May, July
DY VoBEBO ©onSHE 2550 Jo sg00Kb @ $oHE)sos” HBEWE Jo X BoE) 5500868 pdydore g
sol; O HodEBo SRHD, #S0 Jo SYoE ©F FoSHBoE® $HB@ENE Jo Y %) 5500868° pY)sorm
%9 608, ©HH X, Y en b

28, o506 (2) ABS, 3H026
(3) %8y, &owb (4) D, a~8

64. Letrand h be respectively radius and hei

ght of a hollow Cylindrical pipe. Two maximum solid
cones of height 'h'

each are placed in the cylinder such that the centres of the two circular faces of
the cylinder lie on each of the base circles of the two cones. Then the ratio of the volume of the
complete cylinder to the volume of the empty space in the cylinder is

\1
/,
2.8 Sorednd) SrPsessd) 2D TR0 HBAD Aen SWKME r $85» h eomro. 2.85058 'h' 98 893 g\\
BoH K@Eg 3N FoBHod & ‘ésga’no &BE) Botd aééqgs"é SogpSne éo@ﬁé:ooo 28058 & odHHe aﬁ:vée)@’ éﬂj
SOTOER SOTD. OB © Ko HBBOKEH0 HHOD IS 5+d HE50 & Fo5BH0SrEre YD
(1) 35:4 (2 24:23 @) 6:5 4:3
65.

The circumference of a circle is equal to the
length of side (other than its hypotenuse)

f
perimeter of a square whose area is 1089 sq. uni /
of the diameter of the given circle then

of an isosceles right angled triangle is equal to the length

the area of the triangle is (in sq.units) ©

1089 &.ctwm. Frrego Mo o8 Sdio G ey Fes o RE D05 S5eo. a8 won ' HaEE

(Behe: GoE) e¥ gheso (TR E80 seone) Do) FEH 658 o B g0 A EHDH DIPIS, o (Bgheo

S8 Do (56568 e 7’{;‘7
‘b

\az
(1) 882 i“% (3) 441 4) 363

66. A shopkeeper marks the price of an article in such a way that after giving two successive di 5
of 10% each he gets a profit of 10%.

If the cost price of that article is ¥ 16,200 then the marked (
price (in Rupees) is A
2,800 S0KE TEET 10% SHPS Toond) 5o Bos & BN Soxs 10% ereso SFyeoey a8 é)?eaw‘@é’_p)\/é(

28 SKHP GO BEERD. & BHH Tos) =30 16,200 SrPrkDd VXD T (HEBS &5 (d:oaboﬁg;i’g,(\.
1) 19,200 (2) 21,562.20 (3) 22,000 (4) 22,124.60 \eﬂ
AP gD pg =X -

N AP TR Qe 00 ‘ﬂ '” :
7RV.S S A " wp BT
' g ot

3 L TR e Y
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7. Inarace of 4 km, A bejs
: ts B by 400 m or 2 minutes, Then A's time over the course (in minutes)

4 8.20.0 SO BoBost, By A
SoKOR BaHo (DDpest) 3 v
1)+ 20 A\ e
(1) 2 16 @) 22 o Oé-\ﬁ;)@ 18 \;\-\o\ s
; « Ay
B . g7 .
68. Aand Bwalk around a 2000 m circular track at the speed%ZS x§\7/min and 100 m/min reS?e%ﬁ"elY-

E, b:tt}ﬁ\ers t: r;if;ofm St;me. poi1-1t simultaneously and walk in the same direction, when will they be
E & or the first time and together again at the starting point for the first nmgg:’

(1) 60@&80n1in (2) 80 min & 100 min /\f\
(3) 80 min & 80 min (4) 60 min & 100 min

A, Ben 2.8 2000 65 HTTEDH (175 Sotap SGodre 125 H/R Hodaio 100 ) Irod® ST 280
8 Dothrh 08 e BIE® 0LEr SKE BBoh, 208 FHAFOS L™ IvsS O HOA Sewh O
Q08 $idsrd8 IO (@6osf DothH 5§ 80A SR ?

O
(1) 60 Dviren & 80 AVires (@) 803w & 100 Ao \Vg\\Q
(3) 80 dwiren & 80 Aoiren () 60 9Dren & 100 AIpen ,f’ > \MB)
LA
69. A can beat S by 20 meters in a 200 meters race. S can beat V by 10 meters in a 250 Neters ragg, In »
a race of 1000 meters, A beats V by (in meters) *

400 o558 Es® S 2 9Doire B8 LloTKO. wand @ 03 A T8 ‘

200 Dotsts St BB S % 20 e BE® A &8, 250 owog SKord 0806 V 9 10 fnis S N |
‘ .83, 1000 doeog SEND Sododt, V. oY ey dod® ALERD ?
y (1) 125 (2) 200 (3) 216 @) 136 /)f |

ho is walking at the rate of 6 kmph in the direction opposite to that of
the train in 15 seconds and another person who is walking at the rate of 8 kmph in the direction of

the train in 18 seconds. Then the speed of the train in kmph is
&5 Bew, Kot 6 86 Y K0S & Bw SosrBod 8IS 55008 8IS Seoked HBI 15 280gos® trendiod
m&»'g Bew (SRR ag6t3 Kord 885°DLY BK08® Seoxod) HoT°E 5539 18 JBoges® Trendkod.

70. A train overtakes a person w

o8 Kot © Beo o 85°05S" 0 'GSLS':Q
N\

71.  The speed of a boatin still water is 5 times the speed of the current of the water in a river. 'ﬁ\?s/goat

i iver in 51 minutes. In éth of an h the di *Qé+
can travel 10.2 km upstream 1 that river il an hour, the distance (W%
W

travelled by the boat in downstream in thfi Same;ver is ’5‘(/
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A solid metallic cylinder of height 4 ft and radius 3 ft is melted ar/d converted ;ntt}?easshld sPhere,
Thimthe ratio of the lateral surface area of the cylinder and the surface area 0 phere is

DE 4 wdhdiden, ;oéaogo 3 o&iden ¢X) &8 P85 égav&)& %6n0dD 2.8 @éﬁ‘@’om STy, wownd &3‘60&\\(
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73.

‘Milk and water are mixed in a container in the ratio 5 : 3.

1) 1:2 () 3:4 2:3
Then 16 ltr of mixture was drawn oyt
t ratio of milk and water in the new /

k. Now the presen ;
n taken out from the container, then the quantity of ‘{
W/

/

and replaced by same quantity of mil
mixture is 7 : 1. If 8 ltr of the mixture is agai
milk in the mixture remaining is

(1) 14 liters (2) 12 liters

28 SS o SO DO 51 3 95RS° LoD, SHTE 16
ot g I, sl £F Do\FB008 Jren $BcH VB TE) s}
DIFSeR) BB R, WADS M|F00S® Ko e HOBTER0

(1) 14 by 2) 12508 (3) 10 bessy @) 7be% :é

(3) 10 liters (4) 7 liters
Heats B, HEHH 82 008 HBSrmo fy
%08 958 7: L. S Kol B8N 8 duy ‘L\\
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74.

- required for the boat moving with the same spee

A
: AN
_ R,
A boat covers a distance of 66 km along the stream in 90 min and the same distance against t
stream int 110 min. The speed of the boat in still water is same in both the directions. Then the time |
d to cover the same distance in still water ( X;
3

(in minutes) is
2.8 JES Bero Sowd 66 8.0 Sroey 90 NpTotEr S0 ©f SroeQ) B8 wdSogor 1
ATesiir HardosKot. a6 BFs T DEHoTI HAS © 555 Bfo 2B, Lo © HESH IHoRI
5865 of K0S o8 EroY) (BASrBoSES PRI FLpabo (ADoIpes®) g"b
1) 96 2 93 (3) 105 @ 99
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76.

A Copper wire is bent in the form of an equilateral triangle. The area of this triangle is

4356 /3 sq. cm. and if the same wire is rebent into a semi circular shape, then its area (in sq. cm)

is q’ge

o & Tofh B BB (BEPErEEOr Hom. & [Bebwo GvE) 350504356 /3 3. 20.2. Hdaky o3 8 éw\\
v,

28 ©ER)TEE ErHOT 570)8 @R BEveso (S5 0.8 08%) Yy W
(1) 176 (2) 9317 (3) 1331 (4) 7545 g

Two taps A and B can fill an empty tank in 32 min and 36 min respectively. A and B are partiall}’
th th

opened simultaneously such that A allows only f;— part of water and B allows only 3 part of

5

water. Then the total time required to fill the empty tank (in minutes) is
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78.

The speed of car A is 6 .

s 2t

then how much time cg Ames the speed of car B. If car B covers a distance of 225 km in 3 hougs,
" ,

(1) 2 hours will take to cover the same distance ? N

L ok
. % G
(3) 2 hours 15 min, (2) 2 hours 30 min. )//5 b § <
(4) 2 hours 45 min. 6 Y?@ 3
st A @) BKo =86 B @) 3 6 o
% 3m08 & ey 3 Howes® 22585 roR SO BIY KOnd, o8 &80
3408 S AS 08 S0 Somos ? ¥

(1) 2ot @ 2 one 30 amare % /7; 7’%

3) 2 Koo 15
©) § e (4) 2 Kowe 45 ADFe s

N——

O
z‘*il(; ltrfelgs tﬁ alncci1 Y are running in opposite direction with same speeds. Both the trains are of
th 5 gth an they cross each other in 10 seconds. If the train X doubles its speed and

(1P esits speed and travel in the same direction, the time taken to Cross each other is
(in seconds)
Dot By X 5005 Y 00 B 28 SH0s® SHRGHSTOD Both B &8 FED SN aTYOP HoBcko &8
0D HHBENEB 10 DEoEE® rtndinon. oo X 30 Bolos8 JOw Y 350 Sue8o8BI{PH @D 28 66’%
Boird D, 0 eEmrATES o8 SHabo (RE0ES°) o)

- aN

(1) 10 2) 12 3) 15 4) 20 : |
@) ©) @ ARG

79.

The ages of two children A and B are such that the sum of the values of two times the age of A a%\ $
age of A and 2 time &
Y O

5 times the age of B is six less than the sum of the values of five times the
age of B. If the difference of the squares of their ages is 36, then product of their ages is

A %00 B od dpo Sabiyen ace aFgeD A Syt Dotd By, B Sakrin wonth BY el EODB
53y awdo, A Skt wontd B, B St 8o 08 DenSd BODB $T) Iwdo K08 et SN
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63 (3) 80 @) 24

/N
orr?<?hb/ ,/\Q%’

80.

vesting certain amount. B joined A after 2 months fr
.

A has started a business by in
s investment. 2 months after the join of Bg

. .4 ..
commencement of the business by investing B times A'

oot eiies 2 of A's investment. After giving 8% of the profit to
T ) - o partner, the rest of the profit amount is distributed a
¢ he business as working P X P _ mong
2 f%r m':\inéggzggr:;ng to their investment proportion. If the total p.roﬁt at the end of the year is
i 125 0‘;)‘5 then the total amount received by A from the annual profit (in rupees) is
g‘oél ;3°é.:»é263 il 8 A o8 TR (SeBoPometd. TFTTRY, (60900 2o S&ard A Dinabs
[3]

| : 5 B368 2300 SHTE ADeyals 2§ S0 3
83 o, e Qe sty HABW et AS emgio 8% a9y S&med, ergos® WRDS s A,
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2 (3) 9,000 (4) 4,000

7 MR

s, Cjoined A and B by investing
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82.

~gE

\ ,
: d gains 16% profit \‘
: f every article an ) ori/ /
o 1 nt on the marked price o ce is marked on each article 7
sAel?illll%pé(aecelfzrrt?gzw'Srﬁgf IS)IVSS c;:nluch percent above the cost prlc; lsé)n;cﬁ'n 5B St aLéOJJogj& ’?f
&8 SR @@. S PR (HEBS Bo 20% égo:g;&é@;?i%o e 5465 o Soks . o)/
T 16% ergr)y Srothond) ewowd (H8 $H FYI0 4;0/ (4) 40% Kg’;&g& g
(1) 45% /@ 48% (3) ° AANE

Ay
- )
The day of the week on 12th ]anual‘y, 1863 was (4) Monday . \\\/)
(1)  Tuesday (2) Saturday (3) Sunday
1863, 22550 12 88 a805%0 & SF%08" © B AN 7}
(1)  Sorgaeso (2) <=vo (3) wbaBo 4) ép

83.

N—"

\
Let C be centre of a circle of radius 5 cm. Let A and B be two points on the circle. If length of the@

2 _ {
arc AB is 15 cm, and the area between arc AB and chord AB is K sq. cm, then 5 K+sin 3= Ta(/

o)
5%0.2. TR0 fo 2.8 F)&o g SolBo Cwdomro. A H0a5» Ben e E0P Botd AothHen vkromo, OS./;

2 . |
0 AB & 15%0.8., 8ai» o AB, e AB o Sotsg o Frego K. 0.8, wows 25 K+sm3=ﬁ‘Ql‘
1 o 2 3 3) 3.5 4) 25

84.

An empty tank can be filled by pipe A in 4 hours,

ee pipes are opened as follows, PipeCiso , pipe A at 7 a.m and pipe B at 8 am.
If the tank was empty at 6 a.m, then the time at which the tank will be filled is

(1) 9am (2) 8.45am (3) 850 a.m (4) 9.10 am
28 58 &80 A o 19 4 Kobodsr, Bed 89 12 fowos'sr $Ba Cof 2% 6 Kobeositr oDried.
220 BSSatton. a6aHo 6 fowe 2 C 9, adche 7 HodoH 25 A HBakn a8
2 70 698 8 &8 5 SHatra Notd&o6" & Bk
(1)  &&c%Ho 9 2)

pipe B in 12 hours and pipe C in 6 hours, All the
pened at 6 a.m

85.

2D B derth. ésah0 6 fobedH &&
&taho 8.45 (B) &0 8.50 (4) asc%Ho 9.10

If 13%" December 1990 was Thursday,
(1)  Thursday (2) i
1990 &3

(1) Ko )

then the day of the week on 23rd

May 1987 was
3) Saturday (4)

Sunday

86.

2ty the same tank in 20 minutes
.- WO pipes are added to the set C, Ifall
the time (in min) in which the empty tank will be
10 20 850 A o8 god g
Dares® oK. 10 %0 % A i
Bin B0 B o) e i) 3% P°E Do, Hardro
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87. A faulty d1g1ta1 clock ls)
) co p n
unts 10 seconds of a normal clock as T'min. of it and 60 such minutes of

(
b itself as 1 hour of it. This
\},, ' iy par with the normal clcci(c)lik dé;})lays time and day of the week. On Monday at 12 noon it was
\,2 o display on the digital clock is . the same day when the normal clpck shows 4 p.m, th
. p (1) Monday, 12 Noon O Tassdag 6 <L 9\ PN
(3) Monday, 2a. , 6 a.m
i (4) Tuesday, 12 Noon

el Walalovvielel 3

Fotore BE0B. ilga‘;f:? ;@ﬁ.\ 550 2.8 BaS KB 1 AhorrRr ©orod 60 2y &8
F—_— S oF° BRrchE SoBcke TE0ED e Bokr ASHS’ KAdRaw. a8 WHTTo
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(1) RFarbo Sgegmo 12 Hobws (2) oorgzBo araho 6 Hobw
(3) fFHarbo aticho 2 fobes (4) Sorgto STFERC 12 fotoen

88. A person with a speed of 12 kmph reached the bus station 10 minutes after the scheduled time of
a bus in which he is supposed to travel. Next day he travelled with a speed of 15 kmph and
reached the bus station 10 minutes earlier than the scheduled time of the bus. The speed with
which he has to travel so as to reach the station on the scheduled time of the bus is

3) %2 kmph @) 5_47_ kmph

SKo8° (SErB0D Te> GBS O BB $Ea0 Ko, 10 ADaFed GORFOMT

Kooty Kobtd 15 8.5, 3Ko8® Suirdod IS 0% 0d%endo Hcho go8 10
5455 SEEEwos el do8 Sl

(1) %‘l kmph (2) 14 kmph

o8 58 Kot 128.2.
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1y Qs @ L 8.8 e

BRAEE A B — o o e
w1th Z 16,000 and ?'/x respectively as their investments. After three

iness
89. A andB started .glgﬁas‘l?s Z 5,000 and B invested ¥ 6,000 more. At the end of the year if the share
months A has W1 difference of the shares of A and B in the total profit then x=

i total pr 1 to the
of A in the P Z 16,000 e 083 Ixo ':be.gmcﬁwé"’ (FrBofomedd. Srtd J00 o8,
So&®

40008708 B 6,000 &0 Dennad o BosETrosed’, IwFo &
soe> G50 I0EO i A Gy D SirS0 owd, eHE 1=
by B : (3) 20,000 @) 10,500

ofit is equa

are the daughters of A and B. The present ages of B and P are in the
e of A is twice the present age of Q. 15 years ago, the age of A was thrice
resent 28 P is 3 years clder than Q. Then the present age of B (in years) is

the age of Q at that o oo A 060D B o %S0 BHdaw Po (B8 Schge 9B 5:3. A GwE)
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rice of an article, then a customer getg o
e discount is not alloweq, They Org

91. If a discount of 15% is allowed on the marked P

. hen th
articles for ¥ 1,700 than the number of argcles he gets W
marked price of each article (in Rupees) is

%, BROHD oz,

B ErKEE 1,700 raraho, $os B0
28 S0 (BEBS 552 15% SNoHd @SR, &8 D ~ y

- 5‘@“&; éoa);é; 5 15 é‘é o ersor SPothed. eowd a8%8) HNDH @8 (HEBE 58 (Sripg,

(1) 25 @) 20 (3) 36 i 40

§)oa
w})

92. A book seller gives a discount of 20% on the marked price if itis a cash purchase and a discount of

10% on the marked price if it is a credit purchase. If a person bought 70% of the books by cash g
30% by credit, then the net discount got by him is

28 HPE DFS T%o Joud 3PH WEBE K8 20% Trowdd, eBHD TTR BEBE 8 10% ey
BRI, 28 X8 70% Do TR, 30% HPSeH 0hdHS §o8, ©sd8 SYI G trand

(1) 15% (2)  16% B 17% 4) 18%

93.  Gold is 17 times as heavy as Aluminum and Copper is 7 times as heavy as Aluminum. The ratioin

which Gold and Copper are to be mixed so that the mixture is 15 times as heavy as Aluminum is

BOMPB0 DY) ©ersACHO KDL 173¢n. o°A 2 ©erscHo NS 73
BOTFDAADO 2K 153 ) SBORSRTE OB HBED TAY KO, & I

B B
1) 8:17 @ 2:1 B) 4:1 4) 4:3 \?5}\,

\
& @oredo, Tho i)

)
94. Aladder of length 65 meters is‘rebﬁng against a wall and ground. Initially the bottom of the ladder
is 25 meters away from the wall. If the end of the ladder on the wall slips down by 8 meters and
the other end on the floor moves away

. « . : by x meters from its initial position, then the area of the
triangle having dimensions 3x, 4x, 5x (In sq. meters) is

65 oty FED Ko AFYS o Y~FY
Er508° 0B, K e & 2
o0& x sy wBAS, 3x, 4x, 5y &

00 Joh T 08, Fenss DI et griisn A od 2554
DI £ 8 ooty 8088 Bt Fod &%) SHRE $008 trdore §O T
080 595 (Babey T30 (5. Doeags?)

1) 1176 (2) 1074 (3) 1254 (4) 938

95. Two solid metallic spheres of radiy

05

SRR e Dot 35 e ok s B

8BRoTS. TR T BBHE 63 o @O?ﬁvv;}@%gp oﬁg‘*@voa’n Bo&o& éé)aavas 58 o,néiwn o a5
B0 (SEEH wotberos?) O YT wawSHonS, & oo @), 8

(1) 792 2 729

(3) 563 (4) 486
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96. A liquid i 7 '
dra&'n 0‘1112 ZIES: : 11:15(81 Parts water and 12 parts milk. Then the part of the mixture that has to *,%E‘\f/';
7:31is Placed by water so that the new mixture contains water and milk in the ratio

2l PES
FOD E08" B errmen 2 $80 12 grrmen Sre avmon. ©oud WFHED o HB Fo A3

7:3m & S
T 80E0OB, SSER DS 208 gDy 55% 8% o2 H85° ¢ Jars® © gerio % )(4/ S
6 %

v D

5 (2 3 G 3 @ 3 % %,
A
97. f‘?:s‘tvt}il;tet%?me between 8O clock and 9O clock will both hands of a clock be at right angles fo;} ‘e‘ 7
(1) 28ﬁmin past 8 (2) 26-19—1min past8 " S \\{
/7>\~>’“§°o S
(3)  29-— min past 8 (4) 27> min past 8 ‘a4 (7/7%
11 E s
o)
8 50005 9 Hotrw By » JHAHoSE® KAKFBEESE™ Totd Sweygen InSBIB vov §%208° eotraw ? 3 56 v
LY
(1) 8 Howe 281—31— QLK (2) 8Hobe 26% DMrertH gs'g?O &OO
O U
&8, 119
\ y
(3) 8o 20 L oot @ 8 Kobeo 275 drehH {4 /\’
11 11 N ﬁg
RN
98. A clock loses 5 minutes per day. If that clock is set to start on Monday at 12 noon, then o é@
day after how many days it shows 11 AM? . £, \“50)(
(1) Friday, 12" day (2) Tuesday, 15" day ;\« /ng}\
(3) Wednesday, 15" day (4) Saturday, 12" day %‘,\/‘l, 5 ¢‘
¥ KBGSE0 Bherd 5 APy SO IHH0B. & KASrTR) FPardo Hgrgdno 12 Hobe 56@3%});
BB ©308) @"éoé)'fg QYD e S0 e 08 11 AM 2300 ? ,\7,,%0 Y \){ \
(1) 125 & HETBO (2) 153 B SorEarso 0 af% i
4) 125 &% dJdarBo % A
(3) 158 &% entfo (4) Sl %X
V1 O el
99. If a man is celebrating his 100t birthday on Thursday, the 15 September 2022, then m?c‘l'}y gig
the week on which he was born was 7:34 1
3) Frida 4
(1) Saturday (2) Thursday i is) e y (4) Wednesday
V2 ) ) 4 £ .
o 58 85 1005 HES T o8B0, DO 228 w08, © S8 HES S 0" D
ST &b © B .
BEE
(1) o (2) o (@) SE=so @)  eogo
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100. The speed of a boat in still water and the speed of the current are 1 7 rguo 5 tl% g1 distance
travelled by the boat in 4 hours from a point A to B downstream 15 24 km nti'?r?b an the distang,
covered from B to C upstream in 4 hours. Then the time (in hours) taken by the boat to traye] frop,
C to B downstream is

DO ABS® H% Srfo Bods» HB B Jrre QP 5:1 e 58S 4 Kobreod® HothH A Hod B S
BIS® BAPBoDS K-t0, 4 Kowes® Bod C8 D8 ($5t8 H58d8ore Hairdods &rdo Sof 248 4, ,
QL. @ond C %008 B & (Harse 8IS o HES (HoSrBosnrds $§ $Haho (Kotres®)

7

(1) @) 3

W[ oo
gl

@ = ®

101. Eight persons A, B, C, D, E, F, G, H are sitting in a straight line facing North. They have differen;
ages 12, 18, 27, 32, 34, 49, 55, and 63 not necessarily in the same order. B is sitting second to the
left of the one having 49 years. Between B and D there are two persons and D is right of B. The
person second to the right of D has age 32 and he is at the right end. There is one person between
the persons having age 32 and 18. A is sitting second to the left of E: A is sitting immediate left of
D. The one who is 63 years old is sitting to the immediate left of B. Difference between ages of B
and G is 7 years. Both are not sitting together. One who is 27 years old is sitting at the left end. C

" is 6 years younger to D. The one who is 55 years old and H are immediate neighbours. The
number of persons between H and the one having age 34 years is equal to the number of persons
between F and the one having age 55 years. The persons between B and D are

A,B,C,D,E F, G, Heod 2008 08 a8 BEND SEHR 28 SJS Er)andh. 00 Schkgen 12, 18,
27,32, 34, 49, 55, 63 500 o8 S 2585880 8¢, 49 DoJ&oro SaHy) Ko 08 L JHS BokS T
B £8mth. Bodain D o gy aeith S5ken emmdh $08cin B % $83%$ D &Y. D & HAZTHS Tokd
é;éoes‘"’ &%) 8 DoHdy) 32 Sod&oren HBA BB SHIS® HB DS5S BTN, 32 Ho8csw 18 Sy &X)
Sg80 oty 2.8 8 eI, E B dEHBHS Bordarir A Srdmnid. D & JESHB08 I0B00d A e,
B % DEHIHD IHBow ¢ 58 B 63 KoBHyoren. B 308 G o Schdge Bl B 7 SodSoeen.
HOLEr 2.8 Fe> Lt Bo. SKRS® DS DD 27 SoSHyTe By T amnth. D o C 6 Soddoe
Daeed. H obain 55 Soskdore Schiky) ez 8%, 55 &, H Ho8csin 34 Soddore S0
&) Mgy &R Dge BogyEd F sodasn 55 RoSFore S &X)iT0 05y 6 e SoggHd %&wdo. B
5005 D © S5 s F e '

1) GH 2 AC G) EGC @ FEH

102. Choose a term from the alternatives given which bears thé same‘relationship; with .the third term

as the relationship the first two terms mentioned before the sign : : bear.

Bots 75583 1 : & 500t B It Both Here Bl aeﬁd& ‘:60-&70(50 éOCSS‘éJU“O& J0205P) Barised ééoé&
BORS HorR) od)see $08 SHs%od. _ =

TALENT : LATENT : : SYSTEM : ?

(1) SESTYM @ SYSTEM (3) SWIVEL (4) METHOD
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103.

104.

105.

106.

A, B,C, D, E are five
! persons. AisS . .
of E. AB=BC=CD = > outh-West of B. B is North of C. Cis North-Eastof D. D1
D = DE =1 km. Then the direction of E from A is asbOHDA RS FHESE

1) & -
(1) outh-East (2) South (3) North-West (4) West %,

A,B,C, D, Een etH Svo
’ 4 I3 & 5’355‘900. Bé 3638 B-’;s A “
C eamio. E8 S586 3% = L8 29 aTnk. C8 agto 353 Bavyd. D8 &as50 II@—
3% D émmo. AB=BC=CD =DE=18%. o8 A®os E3%5% o 83 K 45/
/S

1
(1) oo @ )seso @) wawdp (@) s & 7

S—" \
3 of the 4 alternatives gi i /
. given below are related in tai d i :
alternative which does not belong to that group. = Spinmapicegisn o8 ST chbge -

Eéocs aD)S Teeord (Beedmcsros® S (BegRrdire 2§ 28Q Y
Bmsore DY)iaron. G BSwrEIE B08R (SeSonasr) §508%08.
(1) REY 2) CPA (3) QUD

o0& BomogrQ) SON dotio Hg w8

r

@) TQ

od in a certain way and so form a group. Find the

3 of the 4 alternatives given below are relat
e which does not belong to that group.

(1) Granite (2) Bronze (3) Brass
(Bots ad)d Teeard @:a*;gésgdﬁroé‘s Sot (BEsrpdiEed &8 203 Srgos® Homos®
sesirore DySEa. & JERS F0E SosiondirR) S8

1) oeow (D) (2) soRso (@08) (@ add (&°R) (4)

1l complete the pattern of the given

alternativ
(4) Steel

Q) 80N aokto Sy a8

&%y 5)

om the answer figures which wi

Find the suitable figure fr
question figure.
PRGN Sepes® $0 oS Ho

Question Figure ] BanH0

2O)S BsPP Soreaed 70 Fgos® & B, g508%08.

Answer Figures | SESER DR

oK B4 -2

25 L
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107. P started from his home to meet his friend Q who is ata — qf éSI:l tct’?"v’:‘?‘r;isNVZf:; ?om him
But he reached Q via meeting his friends S, T, R at their housgs. Sis hes Q without visitii?m P.q
is 3 meters West from S, R is 5 meters South from T. From T § e b i
distance he saves is

_ 08 2Hendoe,
15 2008 t5m506° se5505 B %) 85 e QB EosEds P &S 508 o O 58 g

WEHD S, T, R iy €02 o0 o Score Q & Do, Piod agborr 5 DY d’;foe,s; S ey, Sioa
DEDB 3 Soss emsost T s, T %ol $ip &Im 5 ey &r808° R e, T 208 gon R,

Sosthom Pagye Q% 368, w308 0% 53 &rto
1 s @ 3 (B) 4 4) 12

108. 3 of the 4 alternatives given below are related in a certain way and so form a &Toup.  Fing gy,
alternative which does not belong to that group.

B0t 2 mosrb Goginares® s emdne o 88 $7508° KomoFR) SDN aotiko gy 4«
RSrzrore dYysaran. & SR8 Dok [FEsmaieg) S58508.

(1) XTIKM (2) SODFH (3) YUJLN (4) RMCEG

109. Inthe figure shown below, A person started from A at 6 A.M and finally reached B by 7 A.M. The
shadow of the person at B is falling towards the side of A. The direction of A from B and distance
between A and B (in meters) when Q is below BR at a perpendicular distance of 4 m is

10 m
B 3 R
// [
: 42 m
Q
5m
A ' P
15m
(1) South-west and 4 (2) North-east and 4
(3) North-east and 9./3 (4) North-west and 92

2 S008° A S8 685090 8 Kot acheds
B DS A &) 3D $808. BRSgrpores
A, Bo Sotig 5760 (o)

(1) Beod @04 (2) SR Sbw 4

(3) &=R50 20d5 942 (4) TALT0 8050 9./3

’

BTl b ewew
I T

o
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110. tChl'lOIZSlz t?oil;glu're th:Om the alternatives which bears the same relationship with the third figure as
p the first two figures mentioned before the sign : : bear.

Bot Ki@% ;1 8 Swoth AN It Bo Here Sotfg Derod %000850 Go&° eerod $0205°R) LplS HE0&
EOAS Der mﬁ)")svo o0& ‘Dé&gs‘)&-

O A @) i~
?
L — a A O A
A ) O ) 5 5 O @)
(1) 2 3 4
- ) s A

111. Count the number parallelograms in the given figure.
20y HLENGD BrodY SEvyere Kogste BEPS0E.

\VAN

14 @ 15 (3) 16 @) 17

1)

s of 7 employees A, B,C, D, E, F, G are placed one above the other in the descending
112, Zigzesraé‘;rglz;;ii?ary. GPs sa}:lary is more thar} that of F a.nd D. Lowest salary is not for D. Salary of

A is less than that of G, and G is not th.e highest sa!anec? person. ¥ 30,000 is the second highest
Third lowest salary is 21,000. F is not the third highest salaried person. E's salary is less
than that of D. C's salary is 15,000. If any two successive salaries are

the sum of the salaries of Fand A is

salary.
than that of F but more

differed by ¥ 3,000, then
B,CDEFG® Fob JTen 28D 288 O doro b ©ST Eoos®

Do dore Soff Gddo 255, DEIY 4o Fotitiodtd. G Koy demd sih. G %08 A

7 Kt ebyoe A
aosSomow. F SO0
=R 4 450 30,000 Griraes. S E05 80 21,000 Grdvasen. F et 0 S0

S0 SEND. Bokd nb
e o 3,000 Eraraded o8, F5H0ah Ao @) dove ando

Bott> St e B
(2) 42,000 (3) 51,000 (4) 48,000

2 R
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113. Choose a number from the alternatives given below which bears the iime' relrflt.ionship i
first number as the relaﬁonshjp the last two numbers mentioned after the sign : : bear, b

Bots 1%y : : o Q)% B Both woBw iy o Kowofo ¢os” ©erod BoworrY) Fnss Soy
SONS Sougo myse Hob E2o8%08.

64:2::72:53
)

:@gi

/7”:{14. The following Venn diagram shows the details of 1000 students who obtai.n'ed minimum
?\f" the subjects General Studies (GS), Logical Ability (LA) and Numerical Ability (NA)

9"7/

(1) 44 @) 70 3) 52 (4) 48

rks iy

‘ 1000 %08 dmghed?, asss K& (GS), cvass 2096 (LA) 0k Krg5o08S 2006 (NA)
@;} éc‘i)é B0 FrosS 8)5535630 DTeed (8od IS DEo JSrdoB.

Sy 2

3‘@50@«355

LA

20 8] \(o T\

NA

GS

(\\Q The number of students who obtained minimum marks either in none or in all is
?Qf), SR8tz 808 drtyen o, B eREBEE S0 Srtym 599 Do Hosg

(1) 193 (2) 893 (3) 182 4) 184

g

.. 1oth
(:32(4715. In a row of men and women seated facing North, Lakshmi is 6th from the right and Vishnu is 12n
L& é from the right. Among the women Lakshmi is 4t from right and 6th from the left. Among mt}ew
Vishnu is 7% from right and 24t from left. If Lakshmi and Vishnu interchange their positions
=\ {O O

rank of Vishnu from left among men is
« ]25{)
P Y a8 BEp edsvpore XS0 6X) (Re, Yo &) a8 SERSE, ©& K08 of) 63 3336066, Y

-

2 3 2
/l Cy Fi506® eTt>. [JoO" 0b B H08 45, JsH BB 65 FF0S® acd. HrsHes® Dl ©E B0b 7

@ s FARS LA og./ 4 066 g)gg 605
Bo0& 248 3(;260@6 eI, 0f), dpen 70 PO DBYBO SN D0s, i S0 HHD

ﬁga’)o

1) 27 (2) 30 3) 28 @) 29

T

-IA-P
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116. On each face of cube there js

that the difference of the dOne among 4 dots or 5 dots or 6 dots or 7 dots or 8 dots or 9 dots such

t . .
Ots on the opposite faces is 3. Which of the following figures is

correct ?
N
o8 FEE0D DB oomer h
TOR a)) Do Sopge ik 8o 3 edhxhey (98 Snpod 4 e 5 8w 6 B 7\)\0\\ |

S 8 B 9 ¥
W8 288 sty mmon. & B BbEves’ DB KOERE ? d BN
- \

oy i Gy

117. The water image of the given below figure is :

Bots B Do @t 2o (Hddowo.

{7

i
Water

0 B e [ o AT

I

118. Choose a term from the alternatives given which bears the same relationship with the third term
terms mentioned before the sign : : bear.

as the relationship the first two
(Bots 168 : : & oty B0y 3088 Bo Smro St derod Kowoto 6ol werod SowotrR) HrEd $508°
o 5508 E5oEH08.

SOAS JEQ) OO

‘-0&, (1) :42 o @ 64 @3‘5 4) 39
,.,\% b SN UII)ﬂyl\\llllHlI"|||||I§||\|WI T

Frarsada
E41§24I ~ m;ﬁ,é}: "’7‘,))0/ "}07]/ . \VC?V(/
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119. 1f 24 cm, 18 cm ang 12 cm are the dimensions of a cuboid whose faces are all painted bjye ang
8 em? is the volume of each cube obtained by cutting the cuboid into small cubes then the Numk,

of small cubes having only one face painted is

(1) 3% (number of small cubes having 2 faces painted) +20
(2)  (number of small cubes having no face painted) —4

(3)  3X( number of small cubes having 2 faces painted) —20
(4)  (number of small cubes having no face painted) +4

ORI DD Sorh Jabws a8 Bzto Qs Foses 24 Do, 18 Ro.D.ww, BB 1204,
WO © B OF) WA pol HGHES wEP o @ng) HIOIFSO § 1IH To.dw say

Botd SeHndY Lnpo o8 w88 KOAS 0% oo Sopg IIIPIB.
(1) 3X(Both Bortr Iaowds Sowres Ko 9% e Sosg) +20
(2) @ Sopsw 2R Both 8D O sore Bosy) —4

() 3X(Botd Bord Jabwds Sogren Ko OF) WP Sosy) —20
(1)  (© Sowidin e Sord B 95 svrre o) +4

4]

il

120. Eight persons A, B, C, D, E, F, G, H are sitting around a table as follows
(i) A, B, C, D are facing the centre of the table
(i) E, F, G, H are facing against the centre
(i)  Cis to the right of A
(iv) Fisto the left of C
(v)  Histo theleftof F
(vi) Ais to the left of G and to the right of F
(vii) G is to the right of B
(viii) E is the only person between H and B
(ix) Dis the only person between A and G
Then the persons sitting between B and C are
A,B,C,D,E F,G, HeS 8 508 ¥hen o8 g Db7 $08 Do Srtnons
(i) A, B, C, Doy Q) 3008 edsopor aTnt.
(i) EF G He og Q) Somds 5adsom amth.
(i) A8 ©383:9% C anyd
(iv) C8 &3PS F aayd
(v) F8 U353 H avnid
(vi) G& JEDIHI 20k F 8 HAJHS A aand
(vii) B8 HAZHS G avyd
(viii) H So0ako Be o a8 2% S8 E avno
(ix) AW@G@M&@%%DW

eowd B 300ain C o 205y &8 Jihen.
(1) F&H (2 E&G (3) H&E (4) A&D :
—

I

asalifip 25D VRN

[
TILLL
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121

_ Consider the following Venn diagram
gob 38 DEY 58800508,

—

10 11

12| 9 T~
~_ 5| 4 ]
7 3

Figure Square Triangle Ellipse | Rectangle
& presents Boys Girls Athletes | Graduates

Heo SHBHo | (Dgd=o | BSHBo 8BS0
o &—° o

4rO0Rd | erend 8 | Ereseten | Dialghen

The difference between the number of Graduated Athletes and the number of non Athlete,
non graduates is equal to

(1) Number of graduate boy Athletes

(2) Number of graduate, non Athlete boys

(3) Number of non graduate Athlete girls

(4) Number of non graduate Athletes

Beaw|goen ®OVY Eoeseton Sogg HHOA Errsrter S0l HQGher oo GoRTPd Boag Ko Ky
B JEPSBHTSR.

(1) SDQeEHen ©ow, Eesthen ©o0d ePent Hoggsd

2) DelEHe wo, Errsetoen R erend Soag®

(3) BielEhes S0 O Eoesetoe Soags
(4) Sggber S0 Errsethe Soags

122,

3 of the 4 alternatives given below are related in a certain way and so form a group. Find the

alternative which does not belong to that group.

Bots aQyS weentd @goégs;g&;voess Sl (HTGRIHSITED 2.8 D93 aSngoeSS Soomrd) 89N &otito Hg a8

SSaegrore HByEEeow. &8 2 1D Dol (BT HETATTY, g508%08. N
(1) 4913 3375 @) 2197 (4) 2916 :

123.

) ) i _ Station C is 2 km to the west of B. Station D is 3 km t
Station B is 2 km to the North of station A . : (o}
s Nogrthlif C. Station E is 6 km to the East of D. Then the direction of E from B and the shortest

distance from B to E are (2) South-East, 5 km

(1) North-East, 5 km
(4) South-East, 3.2 km

(3) North-East, 3.2 km :
455 A & asto 3D 2 86550828 S50 'cf,gé5 B ¢od. B 8 35508 3HF Both 885y srsos® }fgﬁS C
B s agso nis 3 86%g rg0d” D 898 D 8 &rp TS 6 86°Doerg Bs06® S E wod. wond
' S & Ko 5% Br80
B = é)ﬁe)&éé:@dﬁ»Bé)o&E 2
ol B B3 (2) o, 585,

(1) awsgo, 588 L
(B) g, 342 B (4) omhoPo, 3.2 8.2.
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124. Given below Question figure is an unfolded dice.
B0 39S HBHHe06® BOD SoS 2.8 FVE HLo Gob.

Question Figure / (BanHero

6
-4
211
3
5
Select the correct figure from the answer figures which is the folded shape of the dice given in
Question figure.

2T Hero o8 (BB’ 8RS FAEH HAEDSHE QY& Y T ErarQ) $rD0H OB SErereR)
Aol '

Answer Figures / ess°en Héren

125. An examination is conducted in a class and ranks are allotted to the students according to their
marks obtained in the examination. It is observed that the rank of a student A is 20 from the top
and 23 from the bottom. The rank of another student B among the passed students is 10t from
the top and 19! from the bottom. Then the total number of students who passed in the examination

is
(1)  equal to the total number of students who failed in the examination

(2) thrice the total number of students who failed in the examination
(3) half times the total number of students who failed in the examination
(4) twice the total number of students who failed in the examination

28 S51BS° 28 B DKEFOTB SO © HOKE > FoB:S Srtne srrdorr 08 ToHeh Seranomd.
2.8 Qorgd A Gl Tog0%d B K008 2058 H08a5 (Bod Fo& 2358 e HHVomed. KT Jgd B Gws) Tp0H
68585 Do’ D $08 1056 0D Bobd Kod 1956, wand & S656° &8HBS Fwvdo dmse Kowg

(1) o 56586° 823 Bwgo Qoge Bogg $&rso
(2) o £65S° so)S Iwdo Dmege VoggEd Swetd ey

1
(3) o 58656° 88 Iwgo Qg HoggEd 5 Bew

(4) o 5856 $8)% Ao Dome Somsh Botd BEY

SO 11111 T
W~
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126. 3 of the 4 alternatives

. iven
alternative which does & below are ¢

not belong to tha

(8ot BN Teenid @3@5&&0@& o 5
Besrore dB)EEran, & 6ém$3§?;§a@@§%dﬁpw 2.8 DR a’wvtéoes‘s BonogeR) 80N doio Iy 2.8

(BeRgEimaire) 8508508,
(3) femur (4) liver

elated in a certain way and so form a group. Find the
t group.

(1) heart (@)  kidney

97. Select the triplet of :
! aumbers of tI;iple(t) (é\' u5n61,b;;§ fsmongst the four alternatives which has similar relation among the

E%é 2D ([BegEmasres® (8, 56, 72) SormyBahos® &) vomse Sty derod Yomogo 0" wwrod

KowogrR) BOA &) Sogryaho axy BeegEimceird) dytod.

1 635 4% 2 (3 15 21) 3) (7,49,63) (4 (7,49, 56) .
<73 3 52 r ®

7

=

128. ?elow a statement is followed by two arguments numbered I and I Decide which of the arguments
is a 'strong' argument and which is a 'weak' argument.

Statement : Should the determination of the gender of the fetus before birth be completely banned
in India ?
Arguments :

I No. There is no such Prenatal Diagnostic Techniques Act in many countries, became people
have a right to know the gender of their unborn child.

I Yes. This helps to prevent the female child foeticide and to narrow down the growing gender
gap in many states of India.

(1) Only lis strong (2) Only ILis strong
(3) Iand II are strong (4) Neither I nor Il is strong

[Bots 2.8 (HHSS0 Joxb I 5005 I Sogged Srhosnls Bod T3 Gotrow. & RIS B VOPIE
S5B050 DB ‘DetrsRREY AGooTd.

(BSSS0 ¢ 258 $008 Hoto Go¥) ol K)Ugéeazé) grESRFS® Sorgorr Qaforer ?

PLPen ¢
L &, crer Soed® B3OS SesriayS B&)E) S0 7080 Bth; Jot¥ol [Baot 0 I 38D G,
oo Bes Soettio 0 FEY

L e @ 8% (EEsREOR DB B0SERS DA eI O ORA RIS o°§°e>@‘5 &%) Dol 0BTy BNoSTRS

HSHDHLE00-

(1) s o8 \ @ [ eopso

@ [ %80 11 en BOE” ORI 4) 1520 Boe IIseR D6 woPEs s

Fratsiaiar 5D TG
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129. Below a statement is followed by two arguments aumbered I and IL Decide which of the argumems
is a 'strong' argument and which is a 'weak’ argument. | | |
Statement : Should the M.D. of the company X be removed owing to his consistent failugeg "
earning of profits for the company ?

Arguments : .
L Yes. Because all the competitors are consistently growing and making profits.
II. No. one more chance is to be given to M.D.

(1)  Only Iis strong (2) Only Il is strong

(3) Iand Il are strong (4) Neither I nor Il is strong

Bots 28 (H5550 Bowd [ Hbaw Il Horged SroSnaS o Tl aotran. & R
05 DB ‘DOEPSIEY AgonoTD.

(BHBK0 ¢ BondE Detdmr erered ©god ?.oégc‘.oﬁ' DHoTH0HS Z02Y M.D. X SFohosSodode 9
UK

L. . brthen eoltr 58 iz, orerotn 8808 DHHTHH S8,

II. =t MD. % $:8@0E ohs°do aa%0.

(1) I5r@D ooDde (2) Il SHED 008

(3) 1598050 IT en Botsr woTHD (4) IR 8= [l =0 D8 2oDIO st

130. Choose the figure from the alternatives, which bears the same relationship with the third figure of
the question figure as the relationship the first two figures bear.

Bots adyd [Ben) S0 IO Toth Hwwe iy Jerof SonoEnost werod HoDOoGER) &K He08°
EON &0a $H0% (80d BegEimaireitod disod.

Zlater
M) @ @ @) @

131. The water image of the mirror image of the word ‘MIRROR' if the mirror is kept on the right side
of the given word is

‘MIRROR’ &3 S0 @) HEIHS 88)erR) $0DIJB & B0 T B)es (H8D0erdS ae (H8D020
1) SIOSIM (2) MIISIOs] () WNWIIIO¥ (4 JOWIIN

Fr-41524 1A » 2.0 e
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132. The total number of squares in the following diagram i
ram is

Bob Hedws® eod S e o

—

¥

@ v @ 12 @ 8 @ 0

133. 3 of the 4 alternatives given below are related in a certain way and so form a group. Find the
alternative which does not belong to that group.

(1) Suspense (2) Fiction
(3)  Thriller (4) Literature

Bots e Treord (Hergimasres® e (SegEmaire &8 308 Srgos® KomogrR) DA eoto Sy el
SBarrore B)seran. & BXesEdE Boul [BeErgEmased) E5shos.

(1) edHo EN) (2) oS (38S)
(3) &dyso (BL5) (4) ;&0 (98036)

134. Twelve persons are sitting in two rows containing six persons each. A, B, C, D, E, F are sitting in
row-1 facing west and P, Q, R, S, T, U are sitting in row-2 facing East. There is an equal distance
between adjacent persons and every person in row-1 is exactly opposite to some person in row-2.
Three persons are sitting between S and R. R is not sitting at any extreme end. S is to the left of R.
P is not in between S and R. U and T are the immediate neighbours of Q. Only one person is sitting
between P and T. B and C are exactly opposite to S and P respectively. A is the third person to the
left of B and D is the third person to right of C. F is immediate neighbour of C. Then the person

sitting exactly opposite to E is

5, S5 s S50 e Dot B® SYLD $00 Sxpymth. Se-1 & S IS wPsmporm A,
B,C, D, E, F oo &ryyTpl> $0ci $86%-2 & &rdyp &fé’ ofopore P, Q R, 5, T, U en Sy, ©%)
s Sty Sgtoe S WS Km0 0B SO SES-1 & Sy 156 S5 S-2 & ety DEF .8
S48 Btore efsopore eotred. S WO R © S dalgh Sghes Exhmnt. R 04 0585 wrehds. R
By Dessiopios S e, S H0d Ro S P B, Q 8 aPHS BT U 0o T en . P B
T oty o o8 5§ LripTed. S H0o P o SH8m B £0d C o I edswpor evym. B o
QBB Bortss BB A HO € 8 DBFHS Srtis KB D.C 8 B85S F avned. wowd E & S

©Domorre ErEF) 358
1) T @ U ¥ Q @ R
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135. A paper sheet is folded and cut as shown in the following figure (A). If that is unfolded then it
looks like
Sod (A) 6° SrS difore o8 RS0 B DY E8O0IASB. 8BS SGhard A 80 ©b ¢od VY

(1)

(3)

Figure (A) / %&0 (A)

YA YAYA

(2)

O O

(4)

OO OO

OO OO

136. In the following figure triangle stands for housewives, Square students for women employees,
circle stands for mothers and rectangle stands for women graduates. Then the number of graduate
women employees having children is
(Bod DHe208® (Bebro KfEreo, SHEEHo Liree a8 Hel, Ho Segosd KB BESHBHo Sotrer Segeoos
BenHzeow. %né Do o S BeoS Hirse aGbe Sopg

53 \’a\\
7 -1
N E 3
N 8 |5
> ?3\\»
el P 9 f\)‘
—_ ‘9
4
(1 1 2 8

@5 4 7

137. The Venn diagram which depicts the men having only daughters, only sons, both daughters and
sons and no children is

DS SLEFTos SHEDH AHTW, HEFHe S ST, HXrBen 5B HSeSen AEER &[T
SoBain Hyen B O $5od 3§ Do

AP @ - 09 . €

ET,41524—IA‘P
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3. 3 of the 4 alternatives given belo

alternative which does not belon W are related in a certain way and so form a group. Find the

Bots BYS T (BEgEmcsmest g to that group.
ALPore DBYETPoW. &8 Bk e Begsimasiren a8 A8R SrEod® Howogrd) 0N soddo do a8
A - B8 DXS08 Bord BEgmasrR) 85 5‘20&)&, 8

1 8 (2) 1331 () 343 @ _
W
139. Below a statement is followed by two ar : : >
is a 'strong’ argument and which is 3 ' E'ZZEI:: nurrg;ired I and II. Decide which of the argumettiq =

Statement :
Arguments :
L :foei-] nT;l;l,ee rsstil;ici:nttos who are fi1'1an‘cially weak a}nd residing in remote villages will have access
pursue their higher education.

II. No. The quality of education will be lost and unemployment problem increases.
(1) Only Iis strong (2) Only I is strong
(3) land II are strong (4) Neither I nor II is strong
8ot a8 (HHSKo Joaxk I50dcko Il Sogged SrdoSads Bo S0 Gotron. & TESeS® DB ‘DOPRE”
20800 OB ‘DOEFEHHE” AgowoT=D. :
(HHSJ0 : (8 Bepdtir af QEDIOAHO solSOROBT ? :
e ¢ :
L b, efgor aelrig H0o oo [rires® DSOS Do 0 &S TS egffoieRs

DHDTgLOITeD ©0tHerens® sotrom.
I &t Dov B> S6 e $00 G5 By DBIHEOD.

1) 15mED 2038 ' 2) Sr@D oo
(3) I:oBasw Il en Borr DOTIOD 4) 1508w s D8 20X SO

Should there be a university in every district ?

140. Choose the pair from the alternatives that has the same relationship as the first pair mentioned

before : : has.

5y : ;8 Swotd ad) @8
Pulp : Paper ::

(1) Flax : Linen ()

& derod 4 omoBEn0s® ©erod SoorrR) EONS 28D DO %008 ddnsPod

Duke : Duchess (3) Stallion : Colt  (4) Another : Books

are given below

141. Two positions of a dice
Soen (8ot aé‘gaa&ég).

2 0% G Botd #oh

If 3 is at the bottom, the numb
S0P GOB VORSO

Sopop 3 808, 2
-@ RETT e 2 3) ¢ @ 6

55D MWWWWMWMMWWWWM

or on the top face will be

ET-415024-1A-P


https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

|
T L I ) IS e S
Addal24(7)

142,

d colour and then it is cut intg ¢

; f P Ma]je,
cubes having no face painteq ,

All the faces of a cube of 24 cm edge are painted with re mal
;

cubes of 3 cm edge. Then the difference of .the m%mber of
number of cubes having exactly one face painted is
2473.20.0 ©0H Ko 2.8 bifo o) o) SwFep AHH Ko
DT Polomrh. wond O Soplir Bord Sab ) T
Q0grR) KOAD %) Forre Sopge Fo

(1) o @ 152 (3) 125 (4)=: °56

% Bchokod. w3 0.40.0 o S0AS g

We)
v

. The six faces of a cube are coloured with 6 different colours one on each face. The face coloureg

with red is opposite to the face coloured Black. The Blue coloured face is adjacent to white coloyzeg
face. The Brown coloured face is adjacent to Blue coloured face.. One of the faces has Y|y,
colour. The colour of the face opposite to the face coloured Yellow is

(1)  Brown (2) White (3) Blue (4) Black

2.8 Ho5n Gnk) 2,898 SopoR 2.E98) Bord TIPS 6 SwgreR st Sorben IchaBaDS. Senh Sorb 3u3
g8 A SwPpoP B Bord Schatod. e Bord Swgrds (58) Swopop oo Sord, 9 Borbsopod

) ;}p@ (D8) S0poP @ime Gorh IcHholP. a8 Sopo 30D gbria IcHDEIB. S0P Sord IVY Swpsnd Q%
'eﬁ\\"/(,Z, S0P SN otk < D@ _ (5\ \\@
L. & Soth 2) Bwd () 8o T T (@) s
. : "Q\;ﬁ ol

L S

N,

\L
- Choose a number from the alternatives given below which bRars the same relationship with the

third number as the relationship the first two terms mentioned before the sign : : bear.

Bots 1983 : : 8 dmoth aD)d I Botd ©oBe s oo Fomoto dodd werod BoLoGrR) e ©03s
EOAS Somgi pdsre Kol K848,

125::243 #8864 3, ?
(1)%27 (2) 512 (3) 81 (4) 625

. 3 of the 4 alternatives given below are related in a certain way and so form a group. Find the

alternative which does not belong to that group.

(Bots adyS Teeord Begsmaires® S (DegSmycasren 2.8 Vo2 é:ogoess Sozord) ¥OA ¢okto &Y 28
Sesrore AB)eran. & HHSIS osd (Begrm e ééﬁs&o&,

(1 G 2 K G M @ Vv

- Choose a term from the alternatives given below which bears the same relationship with the first

term as the relationship the last two terms mentioned after the sign : : bear.

(Bots D8 : 1 SURE 2NN In8S Both ©ose D8 erod Somoo aosd ©erod $omogrR) 258 €088
EONS Sopgd oS Hol Shshod,

APOC : 7 :: ITSK : MVUN

ra1524 1A %60 T

o S0 So8ckn pyBorr 28 Soify éc&"&?
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Four married couples are seat :
ceated beside her husband, Ragh -+ CTCUIar table facing the centre of the table. Every wife is

eight persons are A, B,C, D, E, F rcl;an likes different sweets named L, M, N, O. The names of the
' » £+, H. Persons D and H are together. D likes L. H likes M. Gis

sat second to the right of H. F is seated between G and H. B

is wife of a person who likes O
is adjacent, then who is 3rd t'hgziggf%d?oes not like O. E is a male. If only one pair of women

HTSEH) By SomrR) i -
t’.ié)?’q)cﬁa L M, N,LO iﬁ %‘;?;K:Z;%:é?:”;;g&w @&JEQOj); 68 grdy e &Y ) éjvcﬁao&s. (58
D,E F, G, H. $5%e0 D 8¢ H ey s82 2 289 TR adiedd. VG 008 S0 D8 A, B, C,
ot 50 I 8 SR B e tat i D o Lo 5006 HE MAge, 2558 =0 %5 G
SR O C GRS, B os rgron. Gwbat Ho sty F &ty O 2558 0 &
o © - B2 HODO. oF ol é@ 208 ($%) (H%%) ¢o8, E% 5033 33 SOELY 0G0

1 G 2 A ¢) H @ C

147

148. Ina C-lasiﬂ the rank of A is 3“-i from the top and the rank of B is 13t from the bottom. If the place
of C is 8" place after A and is exactly in between A and B, then the total strength of the class is
2% BE1OE°, A o) Tx0% B $008 356 50k B Gt Te5oth (Bob 08 1358, C Gng) o A 888 7,

82 o Hodaw A, B o pijFore Med ad w08 & SEKBS e Sogy o \\

(1) 32 2 29 (3) 30 31 R
\

149. Choose a term from the alternatives given below which bears the same relationship with the t}ura(
term as the relationship the first two terms mentioned before the sign : : bear. !
Bots 108 : : & Swoth aif)d i Toth Jwro Hotss Derod Hoeoto @08° werod BonogrR) SIS H508° Y,

KOAS HTeR) RR)Ee Hod EK8PE. ‘ \\g
Anthropology : Human being : : Ornithology : ____ . 4 %
(1) Insects (2) Reptiles (3) Volcanoes @) Birds \J\q7 |
N
ts \Z4 .

followed by two arguments numbered I and II. Decide which of the argumen
N

150. Below a statementis

is a 'strong' argument and which is a 'weak' argument. Bk »
Statementg . Should the manufacturing of leather products be prohibited ? \"?; \7,
ek 5
L gun;zz ?(illing animals for any reason other than the reason for the purposes of human beings %\ ¥4
will lead to ecological imbalance. - : S
biggest A
II.  No, through leather products our é))lmtroy niar?lsis ;%g:: foreign exchange. i < r/
(1)  Only I is strong 1y g \
’ (4) Neither I nor Il is stron A
(3) Both I and II are strong 4 g \
Bots 2.8 (HBSH0 Jovbk ] £oBcsw I e SPDOSRBS Botd TEHen Sotraw. & BSOSt DB DOBIE /\> ‘
LB D& oS BRE” Qgm0 ) ? \ \i
< . oy BT DO TRGOT |
B&SS0 1 SPeo HRHY X
N
PESen
o i im0 %6 BT 95 SO sosihud Sosito g dse Hbdegs
L eod. ésvésgié 6;55"’ b S 3 f> o
Sepeters «‘?;Z ;530" %% B¥o B8 SrBB0% SorBK08. (’7\\
I st e éﬁ}%é@ 2) T&ErEdD aose W i
(1) 18mgeD 202 () Isd S Mg 2 .
52 SR 08 woPse S 4
@ 100 e 005 272 = NS 7
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sIand Il are given. These conclusions can

151. Below a statement followed by two conclusion or may not be derived. Decide Which ZT%
the

from the statement either directly of indirectly

conclusion(s) follow(s) from the statement. h ks. But
. eart attacks. but some celgh,:,.
Statement : Experts say excessive work load leads to ebnhEs Sy

that they find work as an antidote to stress.

Conclusions :

I Some celebrities are overloaded by work.

II. Work leads to stress.

(1) Only I follows (2) Only II follows . :
(3) Both I and II are follows 4) Neither I nor I is fotions

BIOSS 28 (H55%0, 0 Dok 1 odn [l &3 Tob SogTed SRR ‘f;f""émm; B0 o
Do Sor $6° 5o $3) Soyrres 5%y B BIIN0 ool SYS SoyTres SENDEY. D oy i
©BBREr dowosol.

(BPSTK0 : s HO 68 2.888 DD O 3.

<l

222

Sozyares

I 08 %06 hth KBoDS =08 &S 3 &8 ol

I 59, 2888 b 8:300.

(1) ISr@d 0ok (2) TSHSD oHI0Hed

(B) 1500608 IT en Botir eRI0Fon (4) 18 8 150 D8 wHo30oSH

152. Directions: Decide whether the data provided in the two statements given under the question
is sufficient to answer the question or not.
Give option :
(1) if the data in statement | alone is sufficient to answer the question;
(2) if the data in statement Il alone is sufficient to answer the question;
(3) if the data in both the statements [ and II together is sufficient to answer the question;
(4) if the data in both the statements I and II together is not sufficient to answer the question;
Question : How many girls are there in the row of girls facing North ?
Statements :
L. Radha is third from the left end of the row and 3™ to the left of Hema.
II.  Renuka is 5" from the right end of the row and is 3™ to the right of Hema.

MStes 1 S (5 OOSS S Bod EI5Tes® &) SSFTE0 6 (BYD Birerr) aXEI8 T &
QFawoSos.

D oo 1HBoSol.

w0 EBIR0 1 6 Sinordo SrEd B§S Siresin 208 87538 oo (1) &

g5e0 EIR0 11 6 Sirordo SrE BED SErerin a8 $A%E8 oo (2) o0

B0 1506 I1 6% S5mto 505 BES Sirersdn asE08 #n5a8 oggo (3) &5

@580 1500 1 89 S8romdo $0bT HHS SErerssn a8 snse oLad aggo (@) &

5%, : &30 DD SR Do SIS 0808 ¥ ams: ? ' /
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153 Below a statement followed b
Y two conclusions I and 11 are given. These conclusions can be derived

from the statement eit} ec not be derived. Dec

. ner dir indi

lusion(s) foll © 1 I tiytor m:llrectly or may t i ) ide Wit f
conclusion(s) follow(s) from the statement.

Statement : Now a d
ad diCtiona.yS the common problem in every family is the child's smart phone

Conclusions :

.  Thepa
. Chﬂg rents a're ‘so busy that they are unable to look after their children.
. ren don't like to play outdoor games.

1 Only I foll
(3) N tl}"I o dOws (2) Only II follows
(3) o) and II are follows (4) Neither I nor 1I is follows

tiﬁ)é: a,z @’J?:G:So, o0 Tows 1 %06co 1T ©F Bot Hoymres aRgpERoD. &8 boyren © [BHES0 Hob
BEgore Bue S&Forr $3) oyren S5 Soe (H5SS0 Kok $O)S Sogren SEDESD). © BoyTre (DS
©HROPTR dgowosob.

BSS0 1 & Ford (58 Henonos® &) Frrrde KK OF) do FFHS FISe.

Soyen ¢

I S080hen S dYY erfSoen SrdsiSEos Dl SotnTHL.

I e odedor Bieo ererds a0 B.

1) [Sr@D okon0d 2) IS eSos0i00

(3) I&boin Ieo Boir eB0BOT0N (4) Isd BoelIsD Db ©[B0BE

154. Below a statement which is to be taken as true followed by two assumptions numbered I and II are
given. Decide which of the given assumption(s) is(are) implicit in the statement.

Statement : A asked her husband, "Why don't you invite your brother to the festival" ?

Assumptions :

L Unless invited, the bro
II. The presence of the brother
(1) Onlylis implicit

(3) BothlI and II are implicit (4)
& BrHSS Qe gPDOBHORD o ([BHHSHED T Somd Bo grSIen adpron. 8 S5 08 (D)

555080 TASE’ (nS") DgowoSot
(BSSS0 : Aed 68 s BYOL: whoriE B RSHY Dot eFRoSErED” ?

ther of A's husband will not attend the festival.

of A's husband for the festival is required.
(2) Onlyllis implicit

Neither I nor II is implicit

PPHRen -
I A G 88 Goth), REBEE, 5PN o) HOEKE® FEH.

L Acw s @% opestoR oS oLl T SBRTo.
(1') ] Soe(aD ;gb& sob 2 I Sl BE od
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155.

-

: ents given under the ‘
Direction : Decide whether the data provided in the two statements gl queshnn

. s i r not.
is sufficient to answer the question 0
Give option :

(1) if the data in statement I alone is sufficient to answer the que::;:r;'

(2) if the data in statement II alone is sufficient to ansv.ver th? .qut to ar,15wer the questiop.
(3)  if the data in both the statements I and II together > sufﬁa?? ient to answer the n,'
(4)  if the data in both the statements I and II together is not suttct Aestion,

Question : How is C related to E ?
Statements :

L. A is the mother of B and C.

II.  Bis the father of D and D is sister of E.

Srilen 1 & (B 6055 29y Both HSTTeS® &F) HIrTB0 & BHHH ISFTTRY KT8 S o
K)gonoﬁo&.

D DY) HBoS0E.

SHoo [BBS0 160 $Ermdo SHED HHH SEPEESD sSws SASFS oso (1) o

Bd00 (BHSK0 11 6% Ssrarto SrED BHS SErpdEn aSEs SANEE oQFo (2) o

©5550 [ & IT 6% Ssrardo S0% (B Srmrdsn w8 SAKES oo (3) of;

©5550 1 & 1T 6% S5rarto $0R7° (BHH ISrerssn adms SASH 88 oo (4) od;

D% : ES® C8& D 25308 20LHENOE ? (f)g .

(BSSren . \

L Bbam Cob A D Q.

IL D@t Sl B ok E Gty /46 D. \ I

'l—i
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L aaen

156.

Below a statement which is to be taken as true followed by two assumptions numbered I and Il are
given. Decide which of the given assumption(s) is(are) implicit in the statement.

Statement : A company has announced good amount of bonus for their employees.
Assumptions :

L. Most of the employees don't leave the company.

II.  Employees work more efficiently than before.

(1)  Only lis implicit (2)  Only II is implicit

(3) BothIand II are implicit (4) Neither I nor IT is implicit

&s BIDBD D2V grYoBIORS 2.8 (HSS55w o0 Tod Do

Sten astmmron. B PSS 20 (2)
($55808° eASE® ([eASS?) DBewoSod.

(BSBK0 1 28 5o % a6iyhen DY Bogos® ST ($8Bo0s.
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157. Below a statement which is to b
given' Decide which of . e taken as true followed bv two assumptions numbered I and II are
1 of the given assumption(s) ‘ ‘
s

Statement : is(are) implicit in the statement.

P savys to [l
Assumptions : y Q. If you want to buy a Refrigerator, buy the X' brand Refrigerator'.

L Q wants to buy a Refrigerator.
II. X' brand Refrigerators are good.
g; (B)cr:tllif II ;sn 1crlnllihc1t e (2) Only II is implicit
are implicit (4) Neither I nor II is implicit
& OIHHS Q2o gPAOBHOVD 2 (HB5580 0 Sowd Both FRSPED BHATZOD- 5§ eS8, 26 (39)
HSHS50E° TASE® (TeADS®) DganoNod. Fiined 2

B850 : Q& P oor s, 4 05@BeE Sstehod, X @7ofs SHTe Sow.
ePRIVD :

1§ Q 2.8 BRETLED T TreRtHotnTHD.

[I. Xerok 8®&TeEen H0D.

(1) 18w a8 eob 2) IlsrED ad sod
(3) I&nBcio [l eo Botir adob &To» @) Isd 8w IIsD 58 a8 B A

158. Direction : Decide whether the data provided in the two statements given under the question is
sufficient to answer the question or not.

Give option :

(1) if the data in statement I alone is sufficient to answer the question;

(2) if the data in statement II alone is sufficient to answer the question;

(3) if the data in both the statements T'and II together is sufficient to answer the question;

(4) if the data in both the statements I and I together is not sufficient to answer the question;

Question : How many sons does Anitha have ?

Statements
I Anitha is mother of X who is brother of Y.

.  Anitha's daughter Nilima has only two brothers.
dpSSen 1 S ) BIODD 2d)d Bod EssTes® 6 SErodo © BEHS TR BXE0S SASS =6°

DBowoSob.
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159. Below a statemen
hich of the

given. Decide W orrow @ Jeader-

Statement : Today 2 reader, tom
Assumptions : jeaders-
L Those who o ki - feacmomjnea from others and that requires readin,
ithout 1€ O g,
. One cannot become @ leader W1 . licit
o 2) Only II is 1mp
(1) Onlylis implicit ( _ oo 2t
(3) BothIand Ilare implicit (4) Neither [ 0ot £ lmlié - &
45550 o0 Dok Soth grSden SRFETOD. ©S eS8 ¢

$50ns 8 &)

&z BKHSS Qessdod 2P0
59 :Ogcmoéo&.

HH5508° ooRSE® (@RS
@38’3?5250 : 38 ogse 00b FCHEE.

gPSKen

I Hxsees SEH0 T Fahen SOL.

I st Hob Stsidom dIE" o 05 0
[ &S aod eod

(1) ] Sl 28 &ob (2)
(3) I0Basn IT oo Bo&r a8 e (4) [5o) o0 [[5°0 D8 aD& B

o B S5 HBoBEo oS8B0.

en. These conclusions canbe

llowed by two conclusions I and II are giv
ecide which of ¢

160. Below a statement fo
r directly or indirectly or may not be derived. D

derived from the statement eithe

conclusion(s) follow(s) from the statement.

Statement : Religion is regarded by the common people as true, by the wise as false and by
the rulers as useful.

Conclusions :

I.  Common people will have lot of faith in religion.

. Rulers make use of religion to rule the people.

(1) Onlyl follows (2) Only I follows

(3) Bothland Ilare follows (4) Neither I nor II is follows

oSS 28 BSS0, TR Sond [ H0ocsn I &3 Totd ém&mw aSgEEom. & By
sPgorr %) Sugre Sosely) e [H5S0 ol SIS éca&;uw &S @ 8

e ([HBSI0 b
wsgore 8o & o @578
©HIOFRT K)go»oéo&.

&

@35650 1 Ho5eQ) FPRTRI0 B&sorr, SR OBEOITER, Fohes SHRAFKEEDIOMT o

Sooren :
[ DErdgpd HIop T D0 SOLNOB.
[ ot Geek> oSS HEY EHTPAOHE0ERED.

(1) EeE emdoR0b 2) I SrEH oot

3) 1 SoBc5w 1T en Dot @RoR00w @) I Bor I D8 w05

42 IWWWWWMWWWWMWW

ET—41524—IA'P


https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

GET IT ON
Google Play

‘ pirection : Decide whether the data provided in the two statements given ander the question 15

. sufficient to answer the question or not
Giveoption: '
) 1f the data in statement I alone is sufficient to answer the question;
(2 ifthe data in statement II alone is sufficient to answer the question; tion;
(3) if the data in both the statements I and 1I together is sufficient to answer the questio o
g) if the data in both the statements I and II together is not sufficient to answer o
Question : What is the age of A ?

Gtatements : '
. The age of A is twice the age of B and the age of C is 4 times the age of B.

1. The age of D is 60 years and 1% times the ége of-C.

Seo 1 G (HF) OIHSE BYE Both HSST® aF) draso © BHD BLETGERY,
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162.
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: i i lusions can be
Below a statement followed by two conclusions I and II are given. T:hese conc .
derived from the statement either directly or indirectly or may not be derived. Decide which of the

conclusion(s) follow(s) from the statement.
Statement : To achieve economic development, people should work hard.

Conclusions @ ,
L Economic development leads people‘ tc? work ;hard.
Il. Making all the people to work hard is impossible.

(1) Only I follows (2) OnlyIl follows _

(3) Both I and II are follows 4 Neither I nor II is follows
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No 163 and 164) : ven below.

Addtion
IS}

¥

gfu%dy the fOllowing information carefully and answer the questions gi
ST () 163 Hobckn 164) . o "

B9 SSnomty i tigiho Aol Hoas (Sor auigols e SErTEmERE,

Following are tie conditions for selecting a senior clerk in a company.
The candidate must

(1) get atleast 50% marks in screening test

(i)  have a graduate degree with atleast 60% marks
(iii) have computer course certificate in Microsoft office
(iv)  have less than 28 years of age as on 1.6.2022

(V)  have atleast 55% marks in S.S.C.

In case a candidate

(@)  who doesn't satisfy (i) above, but has secured atleast 70% marks in graduate degree and atleyq
45% marks in screening test, will be recruited as junior clerk. )

(b)  who doesn't satisfy (ii) above, but has work experience of atleast one year in a company anq
atleast 50% marks in graduate degree, will be recruited as Head clerk.

28 E00dS® (DB%58 5HJHE E6) Q08 TS S5med8 dmosen 8ok &SToW.

@?ﬁég :

(i) L%&&)oﬁ 886° 8030 50 w20 Sr8nen o8 Gomd.

(i) %o 60 =0 S8’ (risdhssS & L0 sowd.

(ili) DEFGH whs® Sosgrseob 8% $83BES $OA dorD.

(iv)  1.6.2022 568 28 Sos8)Tres0s LN Sao) OA owd.

(v) SS.C.&° 8dH%0 55% Stinen ok Gowd.

2. 83¢ 250

(@) 2% (1) O I35Tdow ¢od, 8d%o 70% SrEpes® (rexche &A Soba (p00R 856° 8hso 45%
Srten Pob G0, 8JcHE EEre aH 1R,

(b) 2% (ii) % I8IBEDow 608, 28 EoIS® DKo 2.8 RoHE)Bo B exefSo Mbake 8d30 50% Lrtyes’
(oS BA &r0d &od, 2rE BB QcHDI. :

163. Mr. Y was born on 3™ May 1995. He has secured 71% in graduate degree and 58% in S.S.C. He
has got 46% in screening test. Then Mr. Y

1)~ Can be recruited as Senior clerk (2) Can be recruited as Junior clerk
3) Can be recruited as Head clerk (4) Cannot be recruited

Mr. Y, 1995 3 35 863 adomrt. s s eS BAS® 71% 5805 S.S.C. & 58% oo, @)&noﬁ
BR6° 038 46% SMNod. wonsd Mr. Y 9

(1) 255 EHre AaHWoSS (2) =209 SH™ VOS85

(B) B EG daHosHHo (4)  JcErSse8 0B S

164. Mr. X was born on 4% August, 1994 and completed the Microsoft office course. He has secured
60% in screening test and 62% in S.5.C. He has completed his graduate degree with 56% marks.
He has worked as a clerk in a company for 11 months. Then Mr. X

(1) Can be recruited as Senior clerk (2) Can be recruited as Junior clerk
(3) Can be recruited as Head clerk (4) Cannot be recruited

Mr. X, 1994 ey 4 8 863 2ROTD HBcd BEFF ehS &%) I8 Foeo. @S )R a3s° 60%
20a8» S5.5.C. & 62% Srowrts. w8 5 (MPLrches BAD 56% BP0 e Bacth. a8 Eods® ghyre 11
oen HY T, wowd Mr. X &

(1) %28 By oSS (2)  2~a0E g5 NSRVCHREES!

(3) =& 55T NohosSy (4) Doirose0d OB 5ot

- T

Bi04-1A-P
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165. Choose the correct option that continu
es the series AZY, BYX, CXW, DWV, EVU,
AZY, BYX, CXW' DWV ’ ’ ’ ’
 EVU, A0 Ss>A0d 86 vand oYY Y5 ol.

FWT
(1) (2) FIU 3) F[:TV @ FUT

des f . .
166- The codes for few letters are given in below table. The code of a letter not in the tables is itself.

letter\ V| J |R|A|D[B[W[F|K|U|G|H|[I[E[P
Code12345678#A%@©$*

The code of a word is obtained by replacing the letters of the word subject to the conditions

(a) If both ffhe ends of a word are vowels then write the codes of these two letters as codes of the
immediate next consonants.

(b) If first letter is consonant and last letter is vowel interchange the codes of these two letters.

(c) Iffirstletter is vowel and last letter is consonant then both are to be coded as the code for that
consonant.

The codes for the words 'DRAG' and 'PRAVEDI' are respectively
R sforet 86w (8ot HEEE° aXpasD. S856° B s§T08 SE & ogsd.

ogoren | V| J|R|A|D|B|W|F|[K|U|G|H|T]E]P

@0@@12345678#A%@©$*

o Bso @) B8 ToLEal o 6% siTeh ohwm 8 Bl (Hn FBoIBodS ddbire :

(@) of Sto G % wicrw Sokr efpw sawd, 88, T8 Jogs Jobd $F) Sregeo @) 88
(Erahol.

) o 506" Iot6 wibo ey, D38 sfbo e voxd, 6 S8 S85)80 Srod.

(€) o8 SBos® Bnsd wEdo wify), DI0 vFfo ey oand, Bolr © ey @wY) BE8° Travol.

'DRAG' %0350 'PRAVEDI' Szre &) gf8en SHJe
(1) 534%, ©31458* (2) 543%, *341S50 (3) 534%, ©341§5* (4) %435, 551430

167. In a certain code B F K K T V P is code for the word JEALOUS, then the word having code
BFIQOF U is (The word need not have a meaning)
BFK KTV Pe38 JEALOUS &%) §°5. BFIQOF U §% e 5073 St0. (& 3008 efo ¢oldsito

8t5)
(1) HEARTEN 2) JGCPVGP 3’6
(2):2CGJPRGY

3) AEHRNET

1 , # %#,>, <, = The implication of the tw
168, | F respectively stands for £, % %, > % p Sipe-siatements
;\,y% :S; Ia)n§3 F 6PZ where x, y, z are any three positive real numbers is

F e SESM™ £, 7 F0 > < = 0% SORTo0. 1,y 2 © DB St 68 TS
&» 3 xF 6 Z 3o (BSSTre grSDw.

zD y;xEy () xF yFz 4) xFyBz

A, B, C, D, E So8c»
Soggen, 4 yF3x a0
(1) zE y;xDy 2

e

i 5D AT
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) . interch :
169. Which of the following alternatives contains the signs such that the interchange of Signs Woy

make the given equation meaningful ?
B0l psros® sy Soge H8)6 86 BotS
18+12-6%x4+2=24 '

+~& -
(1) +&+ (2) +&X @) —&X ®

a0y $DEGerR eFHod™ B908°, @D KoRy ug,

170. Choose the correct option that continues the series G119Q, K253W, M39C, Q153],

G119Q, K253W, M39C, Q153I, 80 AT KOES 0SSR KyEod.
(1) B4SW (2) C56S () G90M (4) S2850

171. In a certain code, VERBAL is coded as 22-22-18-25-1-15 and REASON is codeq 1
18-22-1-8-15-13. The code of CUBOID is

28 8% &886%, VERBAL & 22-22-18-25-1-15 e REASON & 18-22-1-8-15-13 el &°§ o
wowd CUBOID &w) %6

(1)  3-6-2-12-9-23 () 24-6-25-12-18-4

(3) 3-21-2-15-9+4 4) 24-6-25-12-18-23

172. What should come in the place of question mark(?) in the following letter sequence ?
Bod oF8 FRS° (3 G (7) &) FSos® 26 Toard ?

BYDW, CXFU, EV]Q, GTNM, ?
\ Vs

(1) HSPK (2) KPVE @) JQTG @ IRR]

173. Assertion (A) : In 1 minute, the minute hand of a clock gains 5-1-2i over hour hand.

Reason (R) : In one hour minute hand gains 55 minute spaces over the hour hand and ang}"
made by minute hand in 1 minute is equal to 6°. |

(1) both (A) and (R) are true and (R) is the correct explanation of (A) 3
(2) both (A) and (R) are true but (R) is not the correct explanation of (A) |
(3) (A) is true but (R) is false
(4) (A) is false but (R) is true |

L

o &

20'3‘)55‘30 (A): 28 d0% sPo0sd, Kowe Swen Bod, Aare Swen 51_ S0085 S08000. | 6
sodeso (R): 2.8 fo® sPodt Howe ey Ko, DWe Swen 55 9Qodpe Enotd 808008 5,002

Dre Swey 1 Ko T &0 6° Al
(1) (A) H0cs» (R) Dotir d&gkm $o8ao (A) 8 (R) ROES DSBen
2) (A)&0ad (R) Botlr Segsn s (A) 8 (R) 506505 D56 s
@ A) @880 =0 (R) Sd5sm

T
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174.

Among A, B, C one is a doctor, one is a teacher and one is an engineer. D, E, F are their wives (need

not b.e in the same order). E marries an engineer. Husband of F is not a doctor. B is a teacher. D
married C who is not an engineer. then

(1) Husband of F is a doctor (2) Cis the husband of E
(3) Eis the wife of B (4) Cisa Doctor

A, B, Cob® 288 3, 286 armointd H0cn 8% 50298, D, E, F oo o0 grden (08 SH3é®

SRSF60 Beh). E 20205 drsirBob. F Gnd) 68 Bikgtd 0. Bl adrguyaintd. C D dirsrtod
50 085 20206 . vand

(1) F & &5 Beiosts> 2) E&w%esC
(3) B&wt) ot E @) Casgs

175.

In a certain code,

ORDER NOW FOR PROFIT is written as "oh aj ey ag"
NOW RIGHT FOR HIM is written as "ag aj ev es"

FOR PROFIT PLACE ORDER is written as "oh ey ib ag"

IN RIGHT ORDER ONLY is written as "ev hd ey 0z"

Code for PLACE HIM ORDER is

o8 0% 566

ORDER NOW FOR PROFIT & "oh aj ey ag" e (srcholod.
NOW RIGHT FOR HIM & "ag aj ev es" e (rabadod.

FOR PROFIT PLACE ORDER &% "oh ey ib ag" e (srcbalod.
IN RIGHT ORDER ONLY re "ev hd ey 0z" (=ahalod.
PLACE HIM ORDER &) §°€

(1) esibag (2) ozevaj (3) eseyib (4) ozevag

176.

The missing term of the series 1, 3, 6, 11, 18, ?,42, 59 is
1,3,6,11,18, ?,42,59 385" €30S S0
() 28 (2 27 3 29 4) 31

177.

Study the followin; arrangement carefully and then answer the following question.
C6Q3SFJOEN7R%9KX2GHV4*8TI#UA

If the 5* element trom the left and 4% element from the right are interchanged, then the number of
consonants which appear immediately after a number is

(808 ©HBED eRHET ©&iabso 3V, §obd HHD SSrEeSDSE.
C6Q3SFJOEN7R%9KX2GHV4*8TI#UA

AL ol 53 HwroseY) S0 HE Bod 45 SrosR) a8 T 532606’5 L6 D Sr0)8, a8 Kowg
s Jowd 3T Sregew oy

M s (2 4 (3) 6 @ 7

Erasaiar oo IERR I Ilﬂlllllllﬂlﬁﬂllllllll{ ..... =



https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Addal24(7|

GET IT ON
Google Play

-

178. Observe the following data flo

pT-41524-1A°F

diagram which displays the sequence of activities inq Proces
w .

getting admission in a college. i
S 803 o) S
28 Smost $3do Srosmas aod 9 IO oo Ardos H% S oy

50890508,
Leave
"o asons: 60
College A
oo
Ask for Branch
Qarrvo (lerod) [
8955 930S Seso
J/ No
Is branch available | No %brggg Yes Cancel of Enroll
Do 0w ? 36> ko, Boprpen [ OGS DO
Yes |90 202 e
Fill form & Submit
Document
G0 VoD DFoed
€9RL0S508,0T
Yes | e0s5)s0 :
Validation of No 8o
Documents
Do HOBOD N
Yes L 0I0 : .
Request for fee Is fund availablé No 8o B
P (000D XAty SATOLSF0 GO ? - ‘
Yes |eosp)so %—:ﬁ
Pay fee 3
%)?:: 290y
Get Receipt Admission confirm
5860 &oesH ©3F0 e

admission is
1)
3)

His required branch is not available

(2)

(4)  Forget to take the receipt for fee pa}’ment
&8 DGR BOES Hgren ©YoBH B0V, 0898 (HS4sm TEDESR8 SRS So8e0

(1) (2)

ber BYOSEOE wiEa
o) ©8R8 Srosto B () 5o 3005 shes, bisssistio 0yRFARS

I

He has one document invalid

No funds available for fee

88 SHeRD) [EroS B OEIS 28 KOS Do B

48-D

)
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: study the following inf -
E 179. Gtudy the g information carefyl] _
(i) A *Bmeans A is nephew of B ¥ and answer the question given below.

(i) A @B means A is mother of B

(i) A & B means A is grandfather of B
(iv) A S Bmeans A is husband of B

(v) A # B means A is father of B

Which one of the followi e Jc
it ollowing relations is true from the expressionP&Q$R@5* T # U, if U is a male

8o SSrTTRY ET elizehio I8, Bod BHS SIrrEmIl.

() A*BoodB&Ens sexs A

(ii) A @B ool B&@ns) 89 A

(iii) A & Beoll B&nE) =& A

(iv) A$Bwol Ba@»E) g5 A

vy A#B woll B Gin) dolf A

U o 0% 560538 (B0 Soporres® P& QSRE@S* T # U of Sdrdo oy D6 H5Er 85808,
(1) TH#R 2) U*Q 3) R@U @) S$U

180. Below two statements I and I are given. These may have a cause and effect relationship or may

have independent causes or be the effects of independent causes.

. The Prime Minister's security has been tightened further.

. The Residence welfare Association of defense colony has decided to tighten the security and
arrange more number of CCTV cameras to the residential campus.

Then the relationship between the above statements is

(1) 1is Effect, 11 is Cause

(2) 1l is Effect, ] is Cause
(3) Both Iand Ilare the Effects of a common Cause

(4) Both Iand ILare the Effects of independent Causes

Bod B350 1 (DSBS 1] 20 SRETTOD- & (PSS S8sn $0005 (Herso ©F Jonogrl) EOA ¢okDly)

Boe Kol seveTD o5y B 98T oD (BFrared SHIY)

L (Soes S0 $iBs 8057 Senpigo Dababod

I 8ge S¥o GO e PO 4000 &ES Doz gowod, Qe (Frozrd8 5087 s C
TRooeen &SN CTV

B BSsae ot Mo $0R080

(1) Isebwo, Il (Perdo

(2) 1Idgesol 5e8Ee0
(3) 1odasw [1B0EF 5508 570 B
(@) 1sopas 150" 6525 508 BT

o SN MR

o (DeFTR

ET41524-1A-P
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ter of my father's mother's only child's son” How g the
e sister

181. Pointing to a woman, A said "she is th
women related to A's wife ? Mother (4) Aunt
. tor 3 OLAS
(1) Sister @ serinlaw O oo @ e S0 oy
a8 @j{) SrQIE A ner oTd. ‘e ° Sols Gt 3B TV ==
Qo) grEss° o Sowotgo. @) o8
(1) %6 (@ sexs 88 st G = 0
. V5, GT7
182. Choose the correct option that continues the series BY2, CX3, E ik
BY2, CX3, EV5, GT7 (80 drnod 30 eand oFR DS o ,
MNI1
(1) IS8 @ xen (3) DWwW4 @
183. If +, —, +, X, =, > and < are respectively denoted by A\ V, A %, B, G el T Whichyohie
following is true ?
b o s, X, =, > 5B < of SEEm AV, A, §, E, G, 500 L oo 8207 08 6 3
S5 ?
(1) 13A7V6A2L3$4 (2) 9N5A4E18A9N16
(3) 9V3V2A1G8$2 (4) 28A4$2L654A2
184. Assertion (A) : The area of the triangle whose sides are of length 5, 7, 10 units is /66 square

units.

Reason (R) : If 'b' is the base and 'h' is the height of a triangle then its area = %bh sq.units.

(1) ~ both (A) and (R) are true and (R) is the correct explanation of (A)

(2) both (A) and (R) are true but (R) is not the correct explanation of (A)
(3) (A) is true but (R) is false

(4) (A) is false but (R) is true

D80 (A):  ghero DD 5,7, 10 chrdenrr Ko (BeHessn Do) Beego /66 SEEH AHFIER

so8es0 (R) : 2.8 ([Bghaso B g 'b' HoBs» &) 'h' wowd ey S50 = lbh SE555) TR i “
3 5 0.

(1) (A) S6c (R) Botie His5so 500 (A) & (R) SOES D56e
(2) (A)S08csw (R) Boter $e5En 52D (A) 8 (R) 505 9586 soeky
(3) (A)5E» b (R) evdgn

(4) (A) o585 =) (R) S
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¢ ABGC D, and E are 5 brand names of an j

" heaviest among A,B,C, D, Eand Ris the
put cheaper than B. Among 5 branded it
there is no item of X whose cost lies be

litem Xand P, Q, R are 3 brand names of an item Y. A is
ghtest among P, Q, R. Brand C is costlier than D and Q
twems gf X, A is not the costliest. D is cheaper than E and
_ etween the cost of these two. E is heavier than three of th
bran,?;d ttllt:nméolff )}; a;?:cll 21 bl'all:deq ltems of Y. Q is costlier than R but cheaper than P w(r)hicheiz
heav . are heavier than D, then lightest among the 5 branded items of X is

o S0 X G0 oot [@og 3 A, B, C, D bcto E. 85y Y @) St w0, D P, Q R.leroty A
B,C,D,E o6’ Ao6@ss %64 P, QR o R 80556, Q &6 D ol C bt @ =0 B o8
55850, HH X G0 lerofes® A oQod%o8 p8356 soth. ESod D $5356 5006050 D8 pbdhe ess® X
@n%) O ok 50D PO Beh. X @Y ofes® SrBodEod Sk é?p,a’;) Y &%) o) (@rofe o8, E

25356, R%o8 Q986838 =D Q8o o3 P god $5856. B £06am Cen Botr D K08 o ©owsd
oo, D X @) o) [Erogs® 8O336.

1) B 2) C @) D 4) E

186. Effect:  There is a lot of demand for the courses of Computer Science and Engineering.
Which of the following can be a strong cause of the above effect ?

(1) Worldwide the need for software personnel is increasing enormously day by day and the .
emoluments for these jobs are very high b

(2) Itis very easy to complete these courses and get employment I
(3) The other branches of engineering are very difficult
(4) There are no job opportunities for the graduates from other branches of engineering

(Berdsn : Sosgegl ) wob 208900R TpoH er &Sm0k Gob.

Bod TS® 2 DOV (©erards OIS S0 28 ?

@ (035 TRgBore RRFHE Rod ©SO B3B8 bsore BHIHE B SO & ab'THoshY) F08 hsTe
ToeP DEPSITP SOLTOD

(2) & S¥oR °Q ko Lba a6fsren SoFBoto Trer Wwego

(3) =oedHBORED ass wpen Trer EXO
4) =38 208000R wope ok 5638 o000 88 s yrsEe 8D

187, 1f THERAPY is coded as GSVIZKB then the code of the word BIOGRAPHY is

THERAPY 5 GSVIZKB e &6 3%, BIOGRAPHY &% %
(1) YRMTIZKSB (2) YRLTJZKSB (3) YRLSIZKTB  (4) YRLTIZKSB

188. from the alternatives in which the number of letters between two successive

Choose the letter series :
letters taken from left to right increase every tme by 1

A5 0l HAS By ot S OFre By aod ofpre Sops BOTO 1 DORLLY &) oFS @EAN

DY Hod ks os.
1) OMKIG

T 10 A

@) OIGDC @) ONLK] 4) OMJFA
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. Choose the correct option that continues the series 132, 182, 306, 380, 552, 870,
132, 182, 306, 380, 552, 870, _____ (38D T5dhod 50 wond o)s) Kpstod.
(1) 1020 (2) 1148 (3) 947 (4) 992

. Assertion (A) : Appearances are always deceptive.

Reason (R) : All that glitters is not gold.

(1) both (A) and (R) are true and (R) is the correct explanation of (A)
(2) both (A) and (R) are true but (R) is not the correct explanation of (A)
(3)  (A) is true but (R) is false

5{(4) (A) is false but (R) is true

v CIRNYBE0 (A): D8 K0B0ID of) IrHLrOSHID,

S
B

© %

so8es0 (R): B VS0 Orrdo oK.

(A) B0 (R) Botie e 00 (A) 8 (R) 50 D56
(2) (A) So0csw (R) Bokr 3&m 520 (A) 8 (R) SO D8es s
(3)  (A) S50 =B (R) esdsio
(4)  (A) o3&En 0 (R) $&5E0

91,

In a certain code language, 'CUB' is written as '7 @ 4', and 'RELATION' is written as '1*5$3 # & 9’
and CELEBRATION is writtenas 7*5*4 1 $ 3 # & 9 then in the same language 'AUTOCRAT' is
written as

2.8 D0 &8 goid® 'CUB' & '7 @ 4' reiéoe, 'RELATION' %0 '1*5 §3 # & 9' reidoe 508050 CELEBRATION
B7*5%41$3 # & 9Imir (8, o8 gas® 'AUTOCRAT & (&5 53)8. }@’b

(1) $@5&71%$5 2) $#3&71%3

B) S&3@71%3 @D $@3&715%3

. In a certain language, code for 'KNIFE' is 5 # % 3 $ and code for 'LAKE' is @ 7 5 $ and code for

'FLANK' is 3 @ 7 # 5, then the code for 'LIFE IN FAIL'is
&8 §%66° 'KNIFE' % 5 # % 3 $ e, 'LAKE' % @7 5 $ e 508050 'FLANK' 3 @7 #5 e (v 8
ep6® 'LIFE IN FAIL' %) &°.
@%3%%#37%@ 2 73%$#%73%7
B) 5%3$%#@#%5 4) %53$#%#@5%

193.

Read the following information and answer the question.
(i) =~ A $ B means A and B are of same age

(i) A * B means A is younger than B

(iiiy A @ B means A is elder than B

Then P* Q @ R $ S means
(1) P is the youngest among all (2)  Ris the youngest among all
(3) Qisthe eldest among all (4)  Sis the yvoungest among all

(Bod JHoemroed) SHd (DEH Boerredhaol.

() A$Beos A HOOD B a8 Scvdy) oot

(i) A*Beod BBy 808 A Hokidy) S8

(ili) A @B ool BSohiy) 808 A Habiy) dE9

wond P*Q@R$ S wod

(1) o068 P oy S5 (2) ©osdE%8 R H0HKY) EEpsS
(3) ®orsBsts Q HAkiy) DN (4)  ©os6E™8 S Sy SESS

T2 520 Hllllll!iﬂll“llllllIIIIHlIIlIiﬁllllll|)lll!||1|1Illllllillllllilllli

L o s

e St ) TSRO S T TN
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” R e L

- Atl'fmst oo men out of A, B, C and D and atleast two women out of P, Q, R, S have to be chosen
;)oozosms socolrcrlmut;t;e of five. Along with Q either A or C should not be placed. Along with B either
uld not be placed. i following is a possible
acceptable co 'tteep? Q and R should not be together. Which of the following P
A, B, C58din D Hthoses® sbs0 2508° 80 P, Q, R, S &3 Horges” %0 208" 2.8 g5A 5 rH%s’
S0 34D, QB Bt A B C doitories, B S P S Sotsrtith, Q Rev 08 aousnith, &
Bod a*R&° 3"(’-5553535 Enhest OEPOSD Banso.

1) A PQRC () ABDPR
B) B,C,QR,S /é P,R,5, A D

195. 'frl'ﬁe letters of English alphabet except Y and Z are coded with the digits 1, 2, 3, 4,5, 6,7, 8 as
ollows. ~

Letters |A/D,G|]J,M,P|S,V,B|E, H K|N,Q,T|W,C,FI,L O|R U, X

Code 8 7 6 5 4 i, 12 1
Wiithdﬂlis code, 'BILL' is coded as '6222'. Similarly the sentence 'SUBJECT OF THE COURSE' is
coded as

wolf HFBrOE' Y 50dm Z $5) 2ADS efore® 1,2,3,4,5,6,7, 8 90808 8od dorr §E .

ofocen |A, D,G|J,M, P|S,V,B|E, H,K|N,Q, T|W,C F[I,L,O|R, U, X . A§—>\X
®oBen 8 7 6 5 4 3 2 1 fo\!°

&% 8%E & 'BILL'% '6222' e §°€ 3% 'SUBJECT OF THE COURSE' o3 %50 &) 5°6
. 6168534 23 455 322165 (2) 6167634 23 455 321166
6167534 23 455 321165 (4) 6116534 23 455 321165

196. A, B, C, D, E and F are six members of a family. A is mother of B who is husband of D. F is the
brother of one of the parents of C. D is daughter-in-Law of E and has no siblings. C is son of D. The
number of males and females in the family are respectively
A, B, C, D, E £0c50 F en &8 %&00006%0 «Sorbd Satgen. D © 48 oond B @) 89 A. C @ws)
3DSoves® .58 F WD, ES §%en $5¥5%e0 89 D. D @ng) H5576tH C. e $600008° &) Hosven

et l.§° Somgen S
(1)553,%3 2 42 3 24 @ 5,1

197. Statements : No white is black; No black is red. O
What is the decision that can be taken based on above statements ? O
(1) Some white are red (2) Some white are not red @
(3) No white is red (4) No decision can be taken

(BSSren : Bendd Db SeoD S 3098 D8 BY .

2 BSSmre ol S:o8e Jgabo B ?
(1) &g BendD BB (2) FYBHD 20H =%
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198. A,B,C,J, M, N, P, R, S, V are 10 members of a family. N is the grandfather OfR A : i/:‘;sst:i?;‘llghter
of P.S,J,C are brothers-in-law of R. B is the son of J. V is tbe mother of (i 1lol‘irin M ;:lw of
N. A is the sister of M. P is the paternal aunt of B. Then which one of the fo g e?

(1)  Ris the father of M (2) ] is the maternal uncle of A

(3) Bis the nephew of P 4) A is the niece of R

A,B,C,J,M,N, II’), R,S, Ven a8 éoea:oeooég.i)) 10 008 Dghseo. A Bt &°8 N. P Gw¥) 5578 M. R Qo)
PBEHDHD S, ], C oo, | @t Hsirdio B. C Gt 89 V. N Gng) ooyt R. M &) %60 A. B @) Sy
P. oan8 8o =2&° Ha ©J5E0 ?

(1) Mawg) o8 R Q) A HrErS]

(@) P owg) eyt B (4) R G Hossisen A

199. A, B, C, D, E are five students. P, Q, R, S, T are five authors, each of them wrote exactly one book
on the subjects Mathematics, Physics, Chemistry, Botany and Zoology need not be in the same
order. Each student owns only one book. R is the author of Chemistry which is not owned by B or
E. A owns Mathematics book. B owns the book written by T but not Physics. D owns Zoology book
written by P. Physics book is not written by S. then Physics book is
(1) Written by S and owned by C (2) Written by Q and owned by C
(3) Written by P and owned by E (4) Written by Q and owned by E
A, B, C D, Een othiod doggen. P,Q R, S, T ev nthiood SsSonden. Ho6° (58 adrim KB,
F 880, 63"653256"@0, aée)gab@o SoBcsm aoé)@@o o3 FogoToD (93 Eos SEDHE) 2.8%)85m 28
28 HISR) BDoTed. (H8 D0 8500 a8 2.8 HIQ) odorr ¥DA doerd. R 63°cﬁ>€6f3°@o BeSows; &
HX%o BB E o rodo soth. KddzeEo 8o A rogo. T B 8D05088 HVEo B roso; 528 F88e(Ho
5o, P 3B 800528 zoHzRo Hgo D Arodo. gF8szRo JIs) S 5DoSBH. s TR0 Hgo
(1) S3 BVoB80s b C oo (@ Q3T sdos2Bob HocH C oo

(3) P3 5Dod808 H08cm E odo (4) Q3 5DoDB0s HBcs» E &rodo

200. Assertion (A) : In a non leap year 1% January and 315t December fall on the same day of the
week.

Reason (R) : There will be two odd days in a leap year beyond 52 weeks.
(1) both (A) and (R) are true and (R) is the correct explanation of (A)

(2) both (A) and (R) are true but (R) is not the correct explanation of (A)
(3) (A) is true but (R) is false

(4) (A) is false but (R) is truc

REESp (A): ok Oy BoDgto 5 SoddBos’, @380 15 B8 &RowE 313 88 oSt o8 Ferd
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se8eeo (R) : 52 rore Su%E 2 Bleren a8 O S058)506°8 eoewon,
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